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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272677
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592745047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

AR, FW KB, PG, ?

Options:

1. v UL
2. VM
3. % VN
4. » UM

Question Number : 1 Question Id : 54592745047 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk eTshA o I g, SHA @ vk ug e g fov e
fasredl A & a8 Wl fdhed IV, ST 3ThA T G

AR, FW, KB, PG , 7

Options:

1. v UL
2. = VM
3. = VN
4. = UM



Question Number : 2 Question Id : 54592745048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

RAP, UEU, XIZ, AME , ?

Options:

1. v DQJ
2. » ERK
3.« DPJ
4. = ER]

Question Number : 2 Question Id : 54592745048 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sk 3fefshA feam I g, oA @ vk ug ofed g1 feu A
faredl & & g8 @ET [Ahed IV, ST 30THA FT W R

RAP, UEU, XlZ, AME , ?

Options:

1. v DQJ
2. = ERK
3. = DPJ
4. = ERJ

Question Number : 3 Question Id : 54592745049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A series is given with one term missing. Select the correct
alternative from the given ones that will complete the series.

HOMB, KLPY, NISV, ?, TCYP



Options:

1. = RGWT
2. v QFVS
3. % QEVS
4. =« RHWT

Question Number : 3 Question Id : 54592745049 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk 3efshA o 9T &, SHA & Uk 9T oed g fov e
fasredl & & g8 @ET fashed IMAT, ST 36THA HT T

HOMB, KLPY, NISV, ? , TCYP

Options:

1. = RGWT
2. v QFVS
3. » QEVS
4. = RHWT

Question Number : 4 Question Id : 54592745050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. = Book
2. » Newspaper

3. v Tyre
4, = Novel

Question Number : 4 Question Id : 54592745050 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



%ﬁﬁﬁﬂﬁwaﬁﬁr@mﬁwﬁﬁﬁﬁwemaﬁgﬁm

Options:

1. = qEd®
2. = AN

3. v wigam

4. = 3IUcAH

Question Number : 5 Question Id : 54592745051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:

1. » Ohm

2. v Pressure
3. = Pascal
4. = Radian

Question Number : 5 Question Id : 54592745051 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafelf@d eat A fqU a0 fasvedl A @ fawaA ereg *1 fav)

Options:

1. = 3NA
2. v GId
3. = Ui&hel
4. = IS

Question Number : 6 Question Id : 54592745052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the odd word from the given
alternatives.

Options:




1. » Hand
2. » Eyes

3. = Brain
4. v Organ

Question Number : 6 Question Id : 54592745052 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mrafe@a wea & Gy 10 T&*wqﬁﬁﬁﬁwa’maﬁﬂﬁvl

Options:

1. = &I
2. % @F
3. » HTISH
4. v 39T

Question Number : 7 Question Id : 54592745053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

School : Teacher :: Hospital : ?

Options:

1. = Treatment
2. v Doctor

3. = Medicine
4. = Bed

Question Number : 7 Question Id : 54592745053 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



forafafad mea # Qe a0 faredl # @ Gafad esar S g

faeTer @ 37EATYh & 3E9dlel @ ?

Options:

1. = 399X
2. v SiFcT

3. = ZaBs
4. = foeaT

Question Number : 8 Question Id : 54592745054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Cricket : Pitch :: Table tennis : ?

Options:

1. = Match
2. = Bat
3. = Ball
4. v Table

Question Number : 8 Question Id : 54592745054 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad ma A e aiv fasvedt # @ Gafdd ersal S g

hore U - ST ST ; ?
I
2. % §¢



3. = §iel
4. v Sl

Question Number : 9 Question Id : 54592745055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the related words from the
given alternatives.

Length : Metre :: Temperature : ?

Options:

1. = Celsius

2. v Kelvin

3. = Fahrenheit
4. = Hot

Question Number : 9 Question Id : 54592745055 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafafad wa & R aiv fasvedt # @ @afad esar S A

oFeTs : Al  dTgHTT ;@ ?
Options:

1. » dolaad
2. v Shollde
3. * ARAEe

4. = IH

Question Number : 10 Question Id : 54592745056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘FAST’ is written as ‘611920,
TACK’ is written as “101311°. What is the code for ‘POUND’ in
that code language?

Options:

1.+ 161521144
2. % 16152144
3. % 16152114
4. %« 16152141

Question Number : 10 Question Id : 54592745056 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TAfeIse I AT H, ‘FAST &I ‘611920° Tor@T AT &,
‘JACK® &7 “101311° for@r Srar &1 39 ig #9r # ‘POUND’
T hig AT &7

Options:

1. v 161521144
2. = 16152144
3. = 16152114
4. = 16152141

Question Number : 11 Question Id : 54592745057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘BRACKE’ is written as ‘EVDGNT'.
What is the code for ‘ORIENT’ in that code language?

Options:

1. » SVKIQX
2. v RVLIQX
3. » SVLIPY
4. » RVKIPY



Question Number : 11 Question Id : 54592745057 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TafRse &z AT #, ‘BRACKE’ 1 ‘EVDGNI’ To@r ST &1
SH Hig #T9T H ‘ORIENT’ T &g 4T &7

Options:

1. = SVKIQX
2. v RVLIQX
3. = SVLIPY
4. = RVKIPY

Question Number : 12 Question Id : 54592745058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, ‘HONEST’ is written as ‘CITYNN’.
What is the code for ‘TRUMBL’ in that code language?

Options:

1. * PKPHWEF
2. » OLOHWG
3. v OLPGWT
4. » PLQGWE

Question Number : 12 Question Id : 54592745058 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh TafRse &z AT #, ‘HONEST® =" ‘CIIYNN’ Tor@r Jrdar gl
sg 5 AT A ‘TRUMBL® T *I5 T 87

Options:

1.« PKPHWF
2. » OLQHWG
3. v OLPGWF
4. » PLQGWF




Question Number : 13 Question Id : 54592745059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

71,72,73, 74 and 75 are sitting in a line facing towards the
west. Z1 and Z2 sit at adjacent places. Z3 1s sitting at south
end and 74 is sitting at north end. 7Z5 is neighbour of Z2 and
7Z3. Who is third from north end?

Options:

1. v 42
2. % /21
3. % 45
4 % 23

Question Number : 13 Question Id : 54592745059 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Z1, 72, 73, Z4 91 Z5 Uk Ufdd # qiead hr 3 7F Ik
g5 &1 Z1 T Z2 TS iU S &1 Z3 fHUr ’ W §or &
d2T Z4 3ccidl ® 9T §aT g1 Z5, Z2 2T Z3 T IsSHET g
3l BT 8 T Hid 87

Options:

1. v Z2
2. = /1
3. = /5
4. = [3

Question Number : 14 Question Id : 54592745060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Five boys B1, B2, B3, B4 and B5 are sitting in a line facing
towards the North. B3 is sitting to the immidiate right of B4
and B5 is sitting to the immidiate left of B2. B3 is sitting to the
immidiate left of B1 and B4 is sitting to the immidiate right of
B2. If B5 is sitting at one corner, then who is sitting at the
centre?

Options:

1. = B3
2. % B2
3.vB4
4. % Bl

Question Number : 14 Question Id : 54592745060 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

qi< &8sk B1, B2, B3, B4 TaT B5 T Uldd & 3ca< FI 30T

A9 Tk 8 §1 B3, B4 & & el 3N dar & T BS, B2

& Sor FRY 3T dar &1 B3, B1 & & =Y 3¥ Sar & g

B4, B2 & &k gRIl 3T daT &1 Ifg B5S Uk 89 9T &7 &, al
AT H Fid daT §7

Options:

1. = B3
2. = B2
3. v B4
4. = BT

Question Number : 15 Question Id : 54592745061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Six persons Q1, Q2, Q3, Q4, Q5 and Q6 are sitting in two lines.
Three persons are sitting in each line. Q4 is sitting at second
place to the left of Q6. Q3 is the neighbour of Q5 and is
diagonally opposite to Q4. Q2 is the neighbour of Q6. Who Is
sitting opposite to Q5?

Options:

1. = Q6
2. % Q4
3. % Q1
4.+ Q2

Question Number : 15 Question Id : 54592745061 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& giad Q1, Q2, Q3, Q4, Q5 duar Q6 I Uiaddr # 8 &
Ucdeh Uik H el safod 85 g1 Q4, Q6 & FRT 3T g
TATT W 3T g1 Q3, Q5 &1 gsIGT § Ja1 Q4 & [erviaq
oo &1 Q2, Q6 =1 gsiET &1 Q5 & Aaudia Fia dor &7

Options:

1. = Q6
2. = Q4
3. = QT
4. v Q2

Question Number : 16 Question Id : 54592745062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Six friends E1, E2, E3, E4, ES and E6 are sitting around a
circular table facing towards the centre. E4 is sitting to the
immediate left of E5. E3 is sitting between E1 and E6. E2 is
sitting between E4 and E1. Who 1s sitting at second place to
the left of E6?

Options:

1.v E4
2. % E2
3.« E3
4. % ES

Question Number : 16 Question Id : 54592745062 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

©: ared E1, E2, E3, E4, E5 duT E6 U MelTeh Aol & IR
3N Feg T 3 G Ik 85 &1 E4, ES & T a1 31
8T g1 E3, E1 dur E6 & & & dor g1 E2, E4 qur E1 &
ST H ST 1 E6 & 9RIT 3K gEY T W i 68T 87

Options:

1. v E4
2. = E2
3. = E3
4. = ED

Question Number : 17 Question Id : 54592745063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eight persons Al, A2, A3, A4, A5 and A6, A7 and A8 are sitting
around a circular table. A1l is sitting immediate right of A7.
A4 1s sitting between A5 and A3. A2 1s sitting to the immediate
left of A7. A8 is sitting between A2 and A5. Who is sitting to
the immediate right of AG?

Options:

1. » A5
2. % Al
3.v A3
4 % A2

Question Number : 17 Question Id : 54592745063 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S T A1, A2, A3, A4, AS, AG, A7 JuT A8 Tk el
A & TR 3 Feg T 3T T K 85 &1 A1, A7 & T
ST 3 SoT &1 A4, A5 TuT A3 * ST H ST FI A2, A7 *
T IRT 3 ST §1 A8, A2 TUT A5 & W H ST &1 A6 &

Options:

1. = AD
2. = AT
3. v A3
4. = A2

Question Number : 18 Question Id : 54592745064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. All cup are wood.
II. All wood are white.

Conclusions:

I. Some white are cup.

I1. All white are cup.

III. Some wood are not white.

Options:

1. = Both conclusion I and II follows
2. = Both conclusion II and III follows
3. v Only conclusion I follows

4. = Only conclusion III follows

Question Number : 18 Question Id : 54592745064 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd 3T 3% T 3T FUAT W

TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

F:
. AT FY, oIhsT &
I. sl oThaT, T &I

IGLEAF
. FS g%, T &l
II. T @he, +T Bl

Il. e oheT, The =Bl ¢

Options:

1. = Sl fasehy | qor || 3{eEor Fid &
2.« AT forsshs 1l qaur |l 37rEvor F &

3. v haol oSy | HATEOT Tl 3

4. % Fhael Tashy | 3HTEOT FIAT &

Question Number : 19 Question Id : 54592745065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question below are given some statements
followed by some conclusions based on those statements.
Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the
conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
I. All N are P.
II. No Pis Q.

Conclusions:

[. No Nis Q.

II. No Q is N.

III. Some P are N.

Options:

1. = Both conclusion I and II follows
2. = Both conclusion II and III follows
3. = Both conclusion I and III follows
4. v All conclusions follows

Question Number : 19 Question Id : 54592745065 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Eﬁﬁﬁ;@?r@q‘i’?rﬁ?aqmd AT Ik FI€ 37 FUAT W
TR Fo sk fqU a0 §| A0 70 FY=l HT Al A, T8
38 TTHET AT J28 8 eerar gh T @ty 06 v i
iR fY ToF U 910 Fier & ooy, 60 a0 Farar & 3maR
T rFaaed gl

e
. T N, P gl

II. ®1% P, Q #8T g
IGLE B

. = N, Q 8T &
II. ®% Q, N =T8T &l
III.;WP,N%I

1. % 2l fose§ | qor || 3feeor :d &
2. « gt o || T Il 31eeRoT FY §
3. » aell TSRy | o |l HeTEIor AT §
4. v @ forsery 37eERor i &

Question Number : 20 Question Id : 54592745066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the following question, select the missing number from the
given series.

96, 192, 384, 768, 1536, ?

Options:



1. = 100
2. v 3072
3. = 630
4. = 2084

Question Number : 20 Question Id : 54592745066 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foasTTafe weat & & a8 g=elr & & ofcd 37k A Fifei0)

96, 192, 384, /68, 1536, 7

Options:

1. = 100
2. v 3072
3. = 630
4. = 2084

Mental Ability2
Group Number : 2
Group Id: 5459272232
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459272232
Section Number : 1
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section |d: 5459272678
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592745067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

11, 5.5, 183, 0.458, 0.091, ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 0.0152
2. 0.082
3. 185

4. 0.358

Question Number : 21 Question Id : 54592745067 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaatfafre weat & & a1 g=or & & ofcd 37 AT HIi0)

11, 5.5, 183, 0.458, 0.091, ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 0.0152
2. 0.082
3. 185



4. 0.358

Question Number : 22 Question Id : 54592745068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

101, 100, 96, 87, 71, ?

Options:

1. = 80
2. % 92
3.v46
4, %79

Question Number : 22 Question Id : 54592745068 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foaatfafEa uear & & a8 @er & & ofcd 37 AT HFIT0)

101, 100, 96, &/, /1, ?

Options:

1. = 80
2. % 92
3. v 46
4. = 79

Question Number : 23 Question Id : 54592745069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the missing number from the
given series.

1100, 1099, 1090, 1065, 1016, ?



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.1018
2. 1059
3. 1000
4. 933

Question Number : 23 Question Id : 54592745069 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foFafafea weat & & a1 g@or & & ofcd 37F AT HFi0)

1100, 1099, 1090, 1065, 1016, ?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 1018
2. 1059
3. 1000
4. 933

Question Number : 24 Question Id : 54592745070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

318|718

b | 5| 4| 15

y. o ?
Options:



2.v12
3.= 14
4 % 16

Question Number : 24 Question Id : 54592745070 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFeIToad wed A 2T 91 [AFedl A & W e (?) &
T W 3T dlell TEAT I AT

15

b | O]
LA
o

Options:

1. = 10
2. v 12
3. = 14
4. = 16

Question Number : 25 Question Id : 54592745071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

3 3 7
3

4 | 3| 4

81 | 144 | ?

Options:

1.~ 196

2. % 225



3. % 216
4. % 144

Question Number : 25 Question Id : 54592745071 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl & weel & f&T a0 [Gheul & & U =g () &
TATA T 3T TTell TEAT T AT

4 3
3l | 144

LRV S IR I |

Options:

1. v 196
2. » 225
3. % 216
4. » 144

Question Number : 26 Question Id : 54592745072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

8 19| 4 ?

Options:

1. = 40
2. 41
3. % 42



4, v 44

Question Number : 26 Question Id : 54592745072 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ffel@aa wed # fw v et & & weed ”eg (D) &+
T T 3T dTell TEAT I AT

g | 94| 7%

Options:

1. = 40
2. = 41
3. % 42
4. v 44

Question Number : 27 Question Id : 54592745073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the number which can be
placed at the sign of question mark (?) from the given
alternatives.

48] 4]32
3 3| & |5
6 |2 (2] 7?
Options:

1. =11
2. % 14
3.v16

4 % 18



Question Number : 27 Question Id : 54592745073 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafelTd Teed & €T a0 [ahedt & & weed RIeg (?) &
TTel T 3Tl dTell HEAT 1 AT

4 | 84|32
> | 3|5 |31
6 (2| 2| 2
Options:

1.« 11
2. = 14
3. v 16
4. = 18

Question Number : 28 Question Id : 54592745074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If ‘A’ means <, ‘B’ means “+’, ‘C’ means ‘+’ and ‘D’ means -,
then which of the following equation is correct?

Options:

1. » 22B11A2C5 = 10
2. » 12B6A3C4 = 12
3. v 12A5C14B7>11
4. » 18B9ATC2<11

Question Number : 28 Question Id : 54592745074 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IfE A’ T 3T %, B’ T 7T 4, ‘CoHr A+ gAar ‘D’ FT
T Y@L O eFaTlad & @ i 9T GHRIOT el 87

Options:

1. = 22B11A2C5 = 10



2. = 12BBA3C4 = 12
3. v 12A5C14B/>11
4. = 18BYATC2<11

Question Number : 29 Question Id : 54592745075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f12@9=999and 11 @4 = 1267, then 9 @ 5 =7

Options:

1. = 818
2. % 768
3. = 1020
4. v 604

Question Number : 29 Question Id : 54592745075 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 12 @ 9 =999 T 11 @ 4=1267 &, A9 @ 5 =7

Options:

1. » 818
2. = 768
3. = 1020
4. v 604

Question Number : 30 Question Id : 54592745076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Hen, Duck, Lion

Options:



Question Number : 30 Question Id : 54592745076 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% 3@ Ifav St & fow 9w gt & f= F dey w7 o
fFTuT AT &

7IlT, s, N

Options:




(L)

&

Question Number : 31 Question Id : 54592745077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the diagram that best represents the relationship
among the given classes.

Bags, Plastic, Soil

Options:
@o

&




@

QD

Question Number : 31 Question Id : 54592745077 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9% MW Ffav S A Rw aw qail & = & qo w1 HE
fa®qor FIar &l

ST, TATEEh, Hal

Options:

@O0
1. ¢
2. %

@




QY

Question Number : 32 Question Id : 54592745078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A isnorth of B. Biswest of C. Ciswest of D. E is south of D. In
which direction is A from E?

Options:

1. v North West
2. » North East
3. = South West
4. = South East

Question Number : 32 Question Id : 54592745078 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AABHFIcaX FEIB CHuaa & & C, D+ uiggqw & &
E, D& ST & &l A, E T forg fgem & &7

Options:

1. v 3ca? UieTH
2. % 3¢l qd
3. = i ufeaA
4. = &I 4

Question Number : 33 Question Id : 54592745079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ratan goes 6 km toward North. He then turns right and walks
6 km. He then turns right and walks 10 km. He then turns
right and walks 4 km. In which direction is he from his initial
position?



Options:

1. v South East
2. #» East

3. = South

4. » South West

Question Number : 33 Question Id : 54592745079 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl 6 foR.AL 3caT 1 30T S1ar &1 98 TR 20 J3a1 § d91 6
for. AT, Trerar &1 a8 TR av #sar & Jor 10 FRaAT, erar &
gg TR &0 Fscr § dur 4 TRy, <efdr §1 98 3Ta aRi#w
Tl & forg oo & &7

Options:

1. v gfror o
2.« 9§

3. = I&ToT

4, = GI&TOT YiegH

Question Number : 34 Question Id : 54592745080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be
placed at the sign of question mark (?) from the given
alternatives.

NI 1K

Options:



szl =l

Question Number : 34 Question Id : 54592745080 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T e # fow v Tehredt & & wesd ”eg (D) &+
Tl OT 3Tl dTell 3TRTd T V|

LN s
.




<

.=
K

Question Number : 35 Question Id : 54592745081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, select the figure which can be
placed at the sign of question mark (?) from the given
alternatives.

00| |® @
e o|[ooo|| * |[g°3][s83
Options:
o o)
O
- ®
1 . 10%e
O 00
o O
2. %




@e®|00
®9|00

3.

o e®
Clee®

4.« L9

Question Number : 35 Question Id : 54592745081 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ff@aa wead # Rw v [eredt & & wosd ”eg () &+
TTel OT 3Tl dTell 3TRTd T AT

ggg :.: ) eeoe|/|lO O
e o|looo|| " [|8°8leee
Options:

o O

o

® .0
1.« 0%

00O

O o
2. %

o O

O O

® o
3 v L -




ocee
®

Question Number : 36 Question Id : 54592745082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which answer figure will complete the pattern in the
question figure?

e | e [
B | (|
e

Options:

g

1. =

Al P | | o

3.




)1

Question Number : 36 Question Id : 54592745082 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Slel &I el TR woe 3THld & JfdET T G FI@?

W | e | e
e | e | =
B | 2] 7
o
%

Options:

)




)

Question Number : 37 Question Id : 54592745083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Triangles are there in the given figure?

Options:

1. % 2
2.v 3
3.5 4
4, %6

Question Number : 37 Question Id : 54592745083 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& a8 et A fraer P &2

Options:

1. = 2
2. v 3
3. % 4
4, = 6



Question Number : 38 Question Id : 54592745084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many Quadrilateral are there in the given figure?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1.5
2.6
3.7
4.10

Question Number : 38 Question Id : 54592745084 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& a1 T 3 Roaer Tasler §2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 5
2. 6
3. 7
4. 10

Question Number : 39 Question Id : 54592745085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



How many Triangles are there in the given figure?

Options:

1. % 13
2.v14
3.+ 11
4 % 16

Question Number : 39 Question Id : 54592745085 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& aTg JTpTT 7 fovasr Terst &7

Options:

1. = 13
2. v 14
3. = 11
4. = 16

Question Number : 40 Question Id : 54592745086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following cube can be formed?

9
318
6
5

P P @@

1. = I, II and IV
2. = I, II and III
3.«=ITand IV
4. v 1 and III

Question Number : 40 Question Id : 54592745086 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &d # @ i AT O &l HAhdl &7

9
318
6
5

aplins RGNy

Options:




1. = I Il T IV
2. = | 1l Tt |l
3. = |l qor |V
4. v | aar i

General Awarenessl

Group Number : 3
Group Id: 5459272233
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459272233

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272679
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592745087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Charminar’ is located in which city?

Options:

1. = Kolkata



2. » Bengaluru
3. * Mumbal
4. v Hyderabad

Question Number : 41 Question Id : 54592745087 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATAR forg 28T & g &7

Options:

1. %= Shlolehldl

2.&3’?@3
S.wgaé
4. v EEEIE

Question Number : 42 Question Id : 54592745088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is NOT correct?

I. Ellora caves are situated in Maharashtra.

II. Thal Pongal is a harvest festival dedicated to the Sun God.
ITII. Mallika Sarabhai is famous for Mohiniattam dance form.

Options:

1. = Only I

2. = Only II

3. v Only III

4. = Both I and III

Question Number : 42 Question Id : 54592745088 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



frrtfaf@a & & st a1 sua g =181 &2

. TelT T ET AERTSE A P B

I. 1% 9RTeT I 3T I FATUT Teh Bl hels hl BN g
Il. ATCTRT RIATS T AGAEA T & o0 S=r SAr g

Options:

1. = Fad |
2. % hadl |l
3. v aer |l
4, = | 9T |l ghar

Question Number : 43 Question Id : 54592745089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

is the first woman dancer to be awarded with Padma
Vibhushan.

Options:

1. v Sonal Mansingh

2. » Mallika Sarabhai

3. » Yamini Krishnamurthy
4. = Shovana Narayan

Question Number : 43 Question Id : 54592745089 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

usr fd¥NUT & GFEATTeT @la dTell Tgell ATgell alclehl &

Options:

1. v Tlelol ATATHE
2. » ATcorRT TARTATS
3. = IR FUTH
4, = eNTAT ALTIOT




Question Number : 44 Question Id : 54592745090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Keoladeo National Park is located in which state?

Options:

1. = Punjab

2. v Rajasthan

3. * Himachal Pradesh
4. = Chhattisgarh

Question Number : 44 Question Id : 54592745090 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

haeTed TS 3eaTd Tohdl ol H Fud §7

Options:

1. % OolTe

2. v TTolEdTd

3. = TZATTT Waer

4. *» Bcdr GG

Question Number : 45 Question Id : 54592745091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the Corpus of Contingency Fund authorised by the
Parliament?

Options:

1. * Rs 100 crore
2. v Rs 500 crore
3. * Rs 1000 crore
4. = Rs 5000 crore

Question Number : 45 Question Id : 54592745091 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HEG @R ATFd 3TehieAs fofd T Hi9q a1 §7

Options:




1. = 100 8 TR
2. v 500 g 9
3.« 1000 FAF TR
4, = 5000 5 TUA

Question Number : 46 Question Id : 54592745092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following documents has clearly defined outputs
and outcomes for Central Sector Schemes and Centrally
Sponsored Schemes with measurable indicators against them?

Options:

1. = Receipt Budget
2. = Zero Budget

3. = Gender Budget
4. v Qutcome Budget

Question Number : 46 Question Id : 54592745092 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el & & TFT g&ddel & e &9 Sl Jiararsit 3iT
e RS ATt & folv IRAT Tkl & TTT 3IE
AT IRUTH &I TS5 &7 & IRNHATNG opaT =T §7

Options:

1. = YICT Solc

2. % eI Folc

3. * 98T Foic

4. v FHBChHA TFoIc

Question Number : 47 Question Id : 54592745093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T H Soic T & T farafei@a & @ sia 97 S&dae
FEE H T T FoRaT ST &2

1. wﬁﬁ?ﬁc—cﬁﬂﬁﬁxm

2. % Toca Tag=s

3. v SIEY §9ic

4. = H3IThH Folc

Question Number : 47 Question Id : 54592745093 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following documents is not presented to the
Parliament during Budget Session in India?

Options:

1. » Annual Financial Statement
2. » Finance Bill

3. v Gender Budget

4. = Qutcome Budget

Question Number : 48 Question Id : 54592745094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where are molecules or lipids manufactured?

Options:

1. * Rough Endoplasmic Reticulum
2. v Smooth Endoplasmic Reticulum
3. = Golgl Apparatus

4. » Lysosomes

Question Number : 48 Question Id : 54592745094 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

aar a7 TS 37upsit 1 foATor sher gar &2

Options:



% Tl 3AGTAT STTelshT
v el 3dgedr SATTelehl

% Mool 3SYHIU]
IS IESIE:]

Question Number : 49 Question Id : 54592745095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The minimum distance at which objects can be seen most
distinctly without strain is called

Options:

1. = Far point of the eye

ol

2. v Least distance of distinct vision
3. = Focus of the eye
4, = Radius of curvature of human eye lens

Question Number : 49 Question Id : 54592745095 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I8 #gAdH T o W TN a3l F &ar daa & cafae®

HISE /T ST ThdT &, FEelTal &l
Options:
1. % AT F R ‘%?5

2. v gEISE T HI eqdd gl

Y Y
3. % od Rl HIhA

4. % HATAG AT ol hT Thdl hr HedT

Question Number : 50 Question Id : 54592745096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ray of light travelling from an optically denser medium to
an optically rarer medium,

Options:



1. = Slows down and bends away from normal
2. v Fastens and bends away from normal

3. = Slows down and bends towards normal

4. = Fastens and bends towards normal

Question Number : 50 Question Id : 54592745096 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UhTeTd: HEd HATETH & Uhreld: Taier ATEIH 9¥ ST arell

TehTeT <hT ToRTOT |

Options:

1. = AT & ST & 3R AT | g7 g ST g
2. v AT & ST & 3R a1 § g7 FF ST §
3. = AT g ST & 3T AATT FT 3R FF AT &
4. = O & Sl & 3R WA HT 3N Feh ST &

Question Number : 51 Question Id : 54592745097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A chemical compound X’ is present in a tube. Upon heating
the test tube emitts brown fumes. Identify X’.

Options:

1. = Copper Sulphate

2. = Calcium Carbonate
3. » Ferrous Sulphate
4. v Lead Nitrate

Question Number : 51 Question Id : 54592745097 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sTell # TR IiEH X HAleg &1 I el W Waelel &
L T T Y31 Schlold BT g1 X hT ggarel Fl

Options:




® chTLN < the

# hIoRTIH FISlelc
ﬂ'ﬂ_\q 'FIG*Q")E

M M
v olg d13¢c

ol
#®

Question Number : 52 Question Id : 54592745098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How much work is done in moving a charge of 10C across a
potential difference of 220V?

Options:

1.%22]
2.v 2200]
3.2 2.2]
4. % 2240 ]

Question Number : 52 Question Id : 54592745098 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

220V & TaraT 9T 10C & 31139l Sl TATATART il H
fordeT T FoRaT S1aT 872

Options:

1. = 22 J
2. v 2200 J
3. » 2.2 J
4. = 2240 J

Question Number : 53 Question Id : 54592745099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

When silver chloride is placed in sunlight, the colour of silver
chloride changes to

Options:



1. = Black
2. ® Green
3. v Grey
4. = Brown

Question Number : 53 Question Id : 54592745099 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STs [feat FelNIss §F & Tehlel H @M ST &, feat FoNgs

T 4T H Sl ST &l
Options:

1. = ShTelT

2. % BT

3. ¢ qaY

4.« 5

Question Number : 54 Question Id : 54592745100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The nature of the image formed by a concave mirror Is
virtual and erect. Where is the object positioned?

Options:

1. = At infinity

2. » At focus

3. = At centre of curvature
4. v Between pole and focus

Question Number : 54 Question Id : 54592745100 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ade guvT @Ry T sfg &1 wawy 3mamdr 3 drer &
aedq FEl feud &7

Options:




% 3ald I

x Thihd T

TohdT hg W

Question Number : 55 Question Id : 54592745101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Barium chloride solution and sodium sulphate solution, on
mixing together, results in the formation of white precipitate.
This white precipitate is

Options:

1. « Sodium chloride

ol
#®

2. = Sodium Chlorosulphate
3. v Barium sulphate
4. = Barium Chlorosulphate

Question Number : 55 Question Id : 54592745101 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

INTH FaIRss Fea 30T AIETH7 Tethe [TadeT & Uk a1y
TAeTer T Athe, 3T&T &7 AT 81T §1 I§ The 3T&T

B

Options:

1. = TISIH FaNISS
2. » TITTH FaRIGeh
3. v IRTT Tethe

4, = INITH FeRITehe

Question Number : 56 Question Id : 54592745102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Which properties o f soll are determined by its parent rock?
I. Colour

II. Texture

I1I. Mineral Content

Options:

1. = Only I

2. = Only II
3.« Tand Il
4.« 1,1 and III

Question Number : 56 Question Id : 54592745102 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAT % iel @ 0T SHehT FT Tglel AT FTr &7
. T

||. SaTdc

. Tt FrHaT

Options:

1. % hdel |
2. = ohael ||
3. = | 3T I
4. « |, I, 3T

Question Number : 57 Question Id : 54592745103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the northern most range of Himalayas?

Options:

1. « Shiwaliks
2. v Himadri

3. » Himachal Himalayas



4, = Arunachal Himalays

Question Number : 57 Question Id : 54592745103 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fGAToT T T8 3ol STolT i AT &7

Options:

1. = Tearolen
2. v AT
3. » TgATIer &A™

4. % IBUTS @ATO

Question Number : 58 Question Id : 54592745104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Indian river is a west flowing river?

Options:

1. v Tapi
2. » Mahanadi
3. = Krishna

4. = Subarnarekha

Question Number : 58 Question Id : 54592745104 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafa@a & O sl @ ard a<r afgaa Fr 307 g8 aren
oTar 87

Options:

1. v dTdr
2. = FGlalar

3. ® o0l

c

4. = FAURET

Question Number : 59 Question Id : 54592745105 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Gandhi Sagar Dam is built on which river?

Options:

1. v Chambal River

2. » Godavari River

3. = Krishna River

4. = Brahmaputra River

Question Number : 59 Question Id : 54592745105 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

?ﬁ%ﬁwﬁaﬁmaﬁrwwgm%ﬁ

Options:

1. v ool ol
2. = ST o8
3. % ST AL
4,

* SFEAY ol

Question Number : 60 Question Id : 54592745106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following dam is built on Chambal river?

Options:

1. = Sardar Sarovar Dam

2. * Nagarjuna Sagar Dam
3. v Rana Pratap Sagar Dam
4. » Bhakra Nangal Dam

Question Number : 60 Question Id : 54592745106 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

%ﬁﬁ@ﬁﬁﬁﬁamﬁaﬁaﬁaﬁrwmgm%?

Options:

1. » GIER GUTT 1T




2. % aﬂdnoid TR ST

3. v JUT 9dTT PR ST

4. = STEET AT9Ter ST

General Awareness?

Group Number : 4
Group Id : 5459272234
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness2

Section Id : 5459272234

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459272680
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592745107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Andaman and Nicobar Islands are separated from each other
by which channel?

Options:

1. = Eight Degree Channel
2. v Ten Degree Channel



3. » Ninety Degree Channel
4. = Eighty Degree Channel

Question Number : 61 Question Id : 54592745107 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

$lel AT ool AT 3R FoihlaR T THg FF T gE¥ @
3T Rl g7

Options:

1. = 31& 3907 defel
2. v &g T3aiT dafer

3. = ofss T3l Aol
4, » 3FEAT TSI deTel

Question Number : 62 Question Id : 54592745108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The earliest South Indian literature is called literature.

Options:

1. = Vedic

2. » Pali

3. v Sangam

4. = Vaishnava

Question Number : 62 Question Id : 54592745108 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UTiTel SI&0T ARG TTacy i aIfgcT g ST &

Options:

1. = afgsw
2. % Yrell
3. v §ITH
4, = geurg




Question Number : 63 Question Id : 54592745109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mughal emperor granted the rights to setup a factory
in Surat to Sir Thomas Roe?

Options:

1. v Jahangir

2. = Mir Jafar

3. = Bahadur Shah Zafar
4. = Akbar

Question Number : 63 Question Id : 54592745109 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ohe HaTel HHTC o T ATAE U A FIA H FRETET odMTe Fl
MR eI 9r?

Options:

1. v SAGEIR
2. = HIT IHT

3. » SBIGY A TR
4. % 3hsL

Question Number : 64 Question Id : 54592745110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who wrote the ancient book ‘Arthashastra’?

Options:

1. = Chandragupta Maurya
2. v Chanakya

3. » Ashoka

4. = Panini

Question Number : 64 Question Id : 54592745110 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Options:

1. = <gared A
2. ¢ TIOTRT

3. = 3720k

4, = rorfa

Question Number : 65 Question Id : 54592745111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tatakas’ a form of Buddhist literature, contain

Options:

1. v stories of previous births of Buddha

2. = stories of warfare

3. » forms of yoga

4. = forms of meditation taught by Buddha

Question Number : 65 Question Id : 54592745111 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'STdR Sig Oifecd T Th &9 &, o9H =y

Options:

1.%%@#@%@[3@%’&?
2.&2@%3@%‘&?

3. % T & &Y

4. = 9g =ORT AWT 30 & F &7

Question Number : 66 Question Id : 54592745112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Arab general was the first to invade India in 715 AD?

Options:

1. = IItutmish



2. « Muhammad Ghori
3. » Mahmud Ghazni
4. v Muhammad bin Qasim

Question Number : 66 Question Id : 54592745112 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

715 3. H ART U RAUT hla dTell TAUAH 3T STalal dhidl
q77?

Options:

1. = $PFIJFIi§3I~'i’T
2. » HEFAS Iy
3. » HBHG eleil

4.%2@%@?{%?[%@??

Question Number : 67 Question Id : 54592745113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Civil Disobedience Movement was called off because of which
of the following?

Options:

1. = First Round Table Conference

2. = Session of Indian National Congress (1929)
3. v Gandhi-Irwin Pact
4. = Poona Pact

Question Number : 67 Question Id : 54592745113 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT 3T Ered & faratarag & @ frg FRoT @ 85
ToRaT =T UT?

Options:

1. = UgeT INeTHST GEAA




2. % SR TSR FET T 1929 37Ta3ereT
3. v IM-ET0ad Yae
4. = qafr Yo

Question Number : 68 Question Id : 54592745114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CSIR carried out first ever genetic study on the natives of
which of the following state/union territorie?

Options:

1. v Lakshadweep

2. » Andaman & Nicobar
3. = Odisha

4. = Meghalaya

Question Number : 68 Question Id : 54592745114 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A.TEIEIN o Feaoi@ad & @ Fg T / g onfad ueer
% Aol faaradr o ggell I RIS 3eage Rar?

Options:

1. v o&Tedg
2. = 3USHTS 3 fAhleR
3. = 3ffger
4. » AT

Question Number : 69 Question Id : 54592745115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won Miss India World 20197

Options:

1. * Anukreethy Vas
2. v Suman Rao



3. = Shivani Jadhav
4. = Shreya Shanker

Question Number : 69 Question Id : 54592745115 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 &1 e T aes fraer Sham

Options:

1. % 3alepid dTd
s 1

2. v GHd {1d
s

3. = T9areT STua
4. = ST AHT

Question Number : 70 Question Id : 54592745116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following NGO won BBC’s ‘Global Food
Champion’ award 20197

Options:

1. = Make a Difference
2. » Pratham

3. v Akshay Patra

4. » Ummeed

Question Number : 70 Question Id : 54592745116 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2019 # foarafof@a & & Sid & TASN3T o S&Ar &7 'Telled
T8 Al WERR SHTAT?

Options:

1. = A% 37T TR
2. % TUH

3. v &I 4ET



4, = IFAIG

Question Number : 71 Question Id : 54592745117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following organisation has launched ‘AWaRe’
tool to combat Antimicrobial Resistance?

Options:

1. v WHO

2. = UNICEF
3. = UNESCO
4. = FAO

Question Number : 71 Question Id : 54592745117 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el @&T # & T T916eT o TaIATSHISTS ol &
fagest & fov ‘3@9T(AWaRE) ¢ diea fomar &7

Options:

1. v SSeg.U.3 (W.H.O)
2. » FfAA% (UNICEF)
3. = ZAFTH (UNESCO)
4. = THTIN (FAO)

Question Number : 72 Question Id : 54592745118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which space agency has announced ‘Artemis’ program to
place astronauts on lunar surface?

Options:

1. = ISRO

2. v NASA

3. = ROS COSMOS
4. = JAXA



Question Number : 72 Question Id : 54592745118 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁmﬁaﬁa@ﬁﬁﬁm@rmwﬁaﬁawaﬁw
& TOIT ‘HETHT FRIHH hl GINOT hT §7

Options:

1. = SEY
2. v Tl
3. » UF A
4. « SITHET

Question Number : 73 Question Id : 54592745119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

First female Chief Economist of International Monetary Fund
(IMF) is :

Options:

1. v Gita Gopinath
2. = Rocio Titiunik
3. » Marianne Ojo
4. = Dambisa Moyo

Question Number : 73 Question Id : 54592745119 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAWTSERT HeT Y (313 UH UE) I qgell HAfgell HT
379TeITEAT gl

Options:

1. v AT MdTATT
2. = QT fefeghasr
3. = AR 37

4. = s ET A=Y




Question Number : 74 Question Id : 54592745120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which part of Indian Constitution deals with Emergency
Provisions?

Options:

1. = XV
2. v XVIII
3. = XVII
4. % XIX

Question Number : 74 Question Id : 54592745120 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIATT TTTeTal T hieT AT HET HTUTT 3Uadl & AT &7

Options:

1. = XV

2. v XVI
3. = XVII
4. = XIX

Question Number : 75 Question Id : 54592745121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Constitutional Amendment Act added the chapter of
Fundamental Duties to the Constitution?

Options:

1. v 42nd
2. = 44th
3. # 24th
4. = 74th

Question Number : 75 Question Id : 54592745121 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



oro gduarfass gy Mfafegs a Aifes sasar 1 gigaa
A SET 9

Options:

1. v 42 T
2. = 44 ar
3. % 24 @l
4. = 74 ar

Question Number : 76 Question Id : 54592745122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the President of the Constituent Assembly?

Options:

1. v Rajendra Prasad

2. * B.R. Ambedkar

3. » Jawahar Lal Nehru
4. = Motilal Nehru

Question Number : 76 Question Id : 54592745122 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TTITeT AT o 37€TLT hiad A7

Options:

1. v Toleg UHTE

« 1.3, 3FSERT

2.
3. * AT ol dAg®
4,

x AT Ag®

Question Number : 77 Question Id : 54592745123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following are mentioned in Part-IV Directive
Principles of State Policy?

I. Uniform Civil Code

I1. Provision for free and compulsory education for children
III. Organisation of agriculture and animal husbandry

Options:

1.« I, II and III

2. » Both I and III
3.« BothIandII
4. = Only II

Question Number : 77 Question Id : 54592745123 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafl@a & & i G71 #0e7 IV TST 7 Aifa & foderss dcg
7 IealEd &7

. T AT fafae aigar

I sTereRt & ToIv fot:efeeh 3T 3iferary fRI&m shr 3usrey

Il. FIF 3T FRETAT FT TS

Options:

1. ¢ I, Il qar Il
2. % | Jur |l gt
3. = | T |l gt
4. % hgel ||

Question Number : 78 Question Id : 54592745124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which medal did India win in men’s doubles of World Tour
Platinum Australian Open of Table Tennis in 20197

Options:

1. = Gold



2. « Silver
3. v Bronze
4. « No Medal

Question Number : 78 Question Id : 54592745124 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & faog g wolfean 3eeforer 3iUa & oY ool A
T o shiel TT USh SIdT?

Options:

1. = TgoT
2. = Ta9d

3. v FIET
4. » RS PSS FAGT

Question Number : 79 Question Id : 54592745125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won ICC Cricket Man’s World Cup 2019?

Options:

1. = India

2. » New Zealand
3. v England

4. = Sri Lanka

Question Number : 79 Question Id : 54592745125 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 =T 3L Thehe T8 faeg 0 fRae Sidr?

Options:

1. = HNJ
2. % JoiTels

3. v ZT0i8




4. = HYelehT

Question Number : 80 Question Id : 54592745126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Serena Williams got defeated by which of the following
player in Wimbledon 2019?

Options:

1. » Carolinne Wozniacki
2. » Naomi Osaka

3. = Victoria Azarenka

4. v Simona Halep

Question Number : 80 Question Id : 54592745126 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2019 & Aedcsa A AT Rcaarg = g @amEr a &1=r?

Options:

1. = STellel AlfoeddTeh
2. = SATIAT 3R

3. » TaoaR=T aremiehr
4. v THAEAT &Telg

Arithmetic Ability1
Group Number : 5
Group Id: 5459272235
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



Arithmetic Ability1

Section Id : 5459272235

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272681
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54592745127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of (125/216) + (1/8) — (64/27)?

Options:

1. = 2/5
2. v —5/3
3. % -3/5
4. % 52

Question Number : 81 Question Id : 54592745127 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(125/216) + (1/8) - (B4/27) &T FT FAT &7

Options:

1. = 2/5
2. v -5/3
3. = -3/5
4. = 52

Question Number : 82 Question Id : 54592745128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of 54 +~ (1/4) — (96/5) x (15/12) + 607

Options:

1. = 192



2. v 252
3. % 274
4, % 210

Question Number : 82 Question Id : 54592745128 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

54 + (1/4) - (96/5) x (15/12) + 60 T AT FAT &?

Options:

1. = 192
2. v 252
3. = 274
4. = 210

Question Number : 83 Question Id : 54592745129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f Sx5X5+TxTxT+IxIx9-945 4
(52 +49+ 9% —143)

What is the value o

Options:

1. = 35
2. % 2
3.v21
4. % 14

Question Number : 83 Question Id : 54592745129 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

S*x5x5+TxTxT+9x0x0-045

. FT AT F4AT &7
(52 +49 + 9> —143)

Options:

1. = 35
2. % 2
3. v 21



4. = 14

Question Number : 84 Question Id : 54592745130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3 3
What is the value of (12" +13" 25 }?

39
Options:
1. = —288
2. v =300
3. % =275
4, = —2806

Question Number : 84 Question Id : 54592745130 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(PR R [ —— 9
39 :

Options:

1. = 288

2. v =300

3. & =275

4. = -286

Question Number : 85 Question Id : 54592745131 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T o W o BT
T T 30" 5

Options:

1. = 274/225
2. = 543/30
3. % 147/225
4. v 503/30

Question Number : 85 Question Id : 54592745131 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

11 48 (49 3 87 3
StV Sl 21 |—== == T AT F4T &7?
36 55 295

_|_
56 B8

Options:

1. = 274/225
2. = 543/30
3. = 1477225
4. v 503/30

Question Number : 86 Question Id : 54592745132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of [(232/3) +~ (72/54) — 14 + (39/5) x (175/65)]?

Options:

1. = 78
2.v 65
3. % 54
4. % 60

Question Number : 86 Question Id : 54592745132 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

[(232/3) + (72/54) - 14 + (39/5) x (175/65)] T ATl FT &7

Options:

1. = 78
2. v 65
3. = 54
4. = 60

Question Number : 87 Question Id : 54592745133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of (384/81) x 45/2 + 96 + (9/2) — (2/3)]?

Options:



1. = 47/3
2. % 3/50
3. v 382/3
4. = 51

Question Number : 87 Question Id : 54592745133 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(384/81) x 45/2 + 96 + (9/2) - (2/3)] T AT FaT &7?

Options:

1. = 4713
2. = 3/50
3. v 382/3
4. = 51

Question Number : 88 Question Id : 54592745134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the value of % —[ﬁ+%—14]+ ﬁ?'

5 3 5

Options:

1. = 211

2. = 1054/5
3. v 754/5
4 =1

Question Number : 88 Question Id : 54592745134 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

154 (86,132 141+2% & A g?
35 5 3 5

Options:

1. = 211

2. = 1054/5



3. v 754/5
4. = 1

Question Number : 89 Question Id : 54592745135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

142 _213}{153 86

: + ?
273 182} 136 215

What is the value of 91 —(

Options:

1. =91

2. % 2772/5
3. v 909/10
4. = 8/819

Question Number : 89 Question Id : 54592745135 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

142 213 153 86
01— = » +
273 182 136 215

T AT 4T 87

Options:

1. = 91

2. = 272/5
3. v 909/10
4. = 8/819

Question Number : 90 Question Id : 54592745136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What is the value of ESE}G+[@>< E}+E—12:2‘-‘5}—125&?"
189 20 25

Options:

1. = 72

2. % 625/9

3. % 51277

4, v 225/4



Question Number : 90 Question Id : 54592745136 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

. 2Ty 24
2500+ | —x— [+——1200-1250 <hT HlsT T ?'?
139 20 ) 25

Options:

1. = 72
2. = 625/9
3. = 512/7
4. v 225/4

Question Number : 91 Question Id : 54592745137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average marks obtained by a group 9 students is 55 and
the average marks obtained by another group of 11 students
is 45. What is the average marks obtained by all 20 students?

Options:

1. = 45.5
2. % 46.25
3.v495
4. % 46.5

Question Number : 91 Question Id : 54592745137 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 BTl & U FHE gNT Wt AT 37k 55 § 3K 11 a6l &
qEY THE GaNT Wt 3 37 45 g1 @9 20 SEr @Rt e
AEd A F4T B2

Options:

1. = 455
2. = 46.25
3. v 495




4. = 46.5

Question Number : 92 Question Id : 54592745138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference hetween a discount of 53% and two successive
discounts of 30% and 20% is Rs. 126. What is the marked price
of the article?

Options:

1. = Rs 2000
2. » Rs 1500
3. v Rs 1400
4. = Rs 1600

Question Number : 92 Question Id : 54592745138 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

53% T Ueh @ duT 30% HT 20% Fr a1 FiAH P FT AR
126 9 &1 & I 3ifhd Hed FAT 87

Options:

1. = 2000 T9
2. % 1500 T9
3. v 1400 39
4. = 1600 TU

Question Number : 93 Question Id : 54592745139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A dealer marks an article x% above its cost price and gives a
discount of (x/2)% on the article. If he earns a profit of
(2x/5)%, then what is the value of x?

Options:

1. %18
2. % 10



3.v 20
4. % 30

Question Number : 93 Question Id : 54592745139 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk TAshcl O] 1 38 T Hed & x% 3O 3ifhd FTdm &
dUT 38 W (x/2)% T B T §1 IfE T§ (2x/5)% T o1
Miotd HTar &, ab x T ATl FAT §7

Options:
1. = 18
2. = 10
3. v 20
4. = 30

Question Number : 94 Question Id : 54592745140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the difference between the two numbers is 30% of their
sum, then what is the ratio of larger number and smaller

number?
Options:
1.+13:7
2. % 10:3
3.%13:10
4, %713

Question Number : 94 Question Id : 54592745140 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ITE BT TEITHT & ST & AT 3o AT &7 30% &, ar =
81 HEIT JUT T BT AT FT 3Hefdld 4T §7

Options:




1. v 13 = 7

2. %= 10 : 3
3. = 13 : 10
4. = 7 13

Question Number : 95 Question Id : 54592745141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A’s income is 120% of B’s income and A’s expenditure is 80%
of B’s expenditure. If B saves 25% of his income, then how
much percent does A save of his own income?

Options:

1. v 50 percent
2. * 60 percent
3. % 25 percent
4. = 40 percent

Question Number : 95 Question Id : 54592745141 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A FT T B T T FT 120% & TAT A &7 3T B & &TT FT
80% &| AT B 3U=T 3T T 25% =Tl &, a A 379& Fa
FT M FT Tordar widera s=rar &7

Options:

1. v 50 wfaera
2. = 60 yfderd
3. = 25 yfaera
4, = 40 gfaerd

Question Number : 96 Question Id : 54592745142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




In an election between two candidates, a candidate got 60%
votes and he won by a majority of 3600 votes. Later it was
found that 20% votes were invalid. What was the number of
valid votes?

Options:

1. = 15000
2. » 18000
3. = 15500
4, v 14400

Question Number : 96 Question Id : 54592745142 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

al 3FAEaRT & &T Ush Tolla H, Teh 3FHICA T 60% #T
ﬁﬁHﬂTEIESGOUH?I‘fEﬁ‘ragﬂHﬁoTld AT g H AE U
=T TR 20% AT AT I AT Al ahl T&AT FaT AT7?

Options:

1. = 15000
2. = 18000
3. = 15500
4. v 14400

Question Number : 97 Question Id : 54592745143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article is bought for Rs 800 and is sold at 20% loss. What 1s
the selling price of the article?

Options:

1. v Rs 640
2. % Rs 960
3. = Rs 600



4. = Rs 750

Question Number : 97 Question Id : 54592745143 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk GE] T 800 ¥UF H THIET ST & TUT 20% T gl W

ST ST &1 9% T Ok Hed &1 87

Options:

1. v 640 39
2. % 960 TU
3. = 600 T
4. = 750 T

Question Number : 98 Question Id : 54592745144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

An article is sold at 10% loss. If its cost price is decreased by
Rs 20 and selling price is increased by Rs 6, then a profit of
7.14% 1s earned on it. What is the original selling price of the
article?

Options:

1. = Rs 176
2. v Rs 144
3. = Rs 154
4. % Rs 168

Question Number : 98 Question Id : 54592745144 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush aE AT 10% T &l 9T ST AT 1 I SHRT FI o
20 39T € A FRAT ST § 99T 9T Hed 6 S0 & Serm

ST &, dF 39 W 7.14% T Uk o7 FHAET ST g1 T8 F
qrEdiaes Tasha Hed 4T 87

Options:




1. = 176 39
2. v 144 U3
3. = 154 392
4, = 168 4

Question Number : 99 Question Id : 54592745145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Each of A and B sold their watch at Rs 4080. A gained 2%
while B incurred a loss of 20%. What 1s the ratio of cost price
of A to that of B?

Options:

1. = 14 : 50
2.% 39:49
3.»v40:51
4. % 38:51

Question Number : 99 Question Id : 54592745145 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A Jar B # & Ul o 96T 37 Y 4080 T H s =T
A & 2% T SITH AT deﬁzﬂ%aﬁraﬁrg‘élA%w
Hed T B @ FT 37T &7

‘Ip.%‘l4:50
2. = 39 : 49
3. v 40 : 51
4. = 38 : 51

Question Number : 100 Question 1d : 54592745146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If (3a + 2b) / (3a — 5b) = 5/3, then what is the value of a/b?



Options:

1. v 31/6
2. % 6/31
3. = 67
4. % 7/6

Question Number : 100 Question 1d : 54592745146 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfg (3a + 2b) / (3a - 5b) = 5/3 &, Al a/b T AT 4T &7

Options:

1. v 31/6
2. = 6/31
3. = 6/7
4. = 716

Arithmetic Ability2
Group Number : 6
Group Id: 5459272236
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability2
Section Id : 5459272236
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20

Number of Questionsto be attempted: 20



Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 5459272682
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592745147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three numbers A, Band Careintheratioof1:3: 2
respectively. If C is 30 less than the sum of A and B, then what
is the value of B?

Options:

1. » 50
2. % 30
3.v45
4. % 35

Question Number : 101 Question 1d : 54592745147 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

el HEAT A, B 2T C 7 39t saer: 1: 3 : 2 | Iie C,
ATarT Bk AT A 30 FHE, ar B T AT 4T 87

Options:

1. = 50
2. = 30
3. v 45
4. = 35

Question Number : 102 Question Id : 54592745148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the cost of 5 apples and 6 mangoes 1s same as the cost of 3
apples and 9 mangoes, then what is the ratio of the cost of a
mango and the cost of an apple?

Options:



1. % 3:
2. % 3.
3.v2:
4, = 3.

1w W I

Question Number : 102 Question Id : 54592745148 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I 5 AF JUT 6 3TH T H{ed 3 9 dAT 9 3MH & 7T &
SUET §, dl 3H & Hed d97 8 & Hed T 3ad 41 &7

Options:

1. = 3: 2
2. % 5:3
3
5

3. v 2
4, = 3

Question Number : 103 Question Id : 54592745149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the compound interest on a sum of Rs 6400 for
three years at the rate of 10% per annum?

Options:

1. = Rs 2218.4
2.vRs 21184
3. % Rs 19984
4. » Rs 2198.4

Question Number : 103 Question Id : 54592745149 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk 6400 9 HT T o 10% ufad a¥ Fr sare7 g7 @ A
Jul T TG AT FAT BRM7?

Options:




x 2218.4 9
v 2118.4 393
x 1998.4 ¥4
x 2198.4 B9

ol

Question Number : 104 Question 1d : 54592745150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the amount on a sum of Rs 8000 for two years
on compound interest (compounding annually) at the rate of
10% per annum?

Options:

1. = Rs 9500
2. » RS 9580
3. v Rs 9680
4. » Rs 9700

Question Number : 104 Question Id : 54592745150 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 8000 YT T TR W Tohglg =TTl (ATT¥eh HAlotel W) &
10% ufad a¥ 1 saer a7 @ 3 aut | Fsrga Far gome?

Options:

1. = 9500 &9
2. = 9580 ¥I
3. v 9680 Tud
4. = 9700 ¥

Question Number : 105 Question Id : 54592745151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



If 8% rate of interest compounded yearly is equivalent to the
X% rate of interest compounded half yearly, then what is the
value of x?

Options:

1. » 65.98 percent
2. % 7.24 percent
3. v 7.84 percent
4. = 6.68 percent

Question Number : 105 Question Id : 54592745151 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg aiiser <Tehglg sTTaT HT 8% o, HAATNh Ushgig sITel hi
x% &Y & ST g, T x T Hed AT 87

Options:

1. = 6.98 wfaera
2. % 7.24 gfderd
3. v 7.84 wfcrerd
4. = 6.68 ufderd

Question Number : 106 Question 1d : 54592745152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train is moving at a speed of 300 m/s. What can also the
speed of this train?

Options:

1. = 940 km/hr

2. % 1220 km/hr
3. v 1080 km/hr
4. % 1100 km/hr

Question Number : 106 Question Id : 54592745152 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk Yerdmar 300 AN/A. FT afa & wer TEr &1 =7 Ieemar &l
At 3T 47 8 Hehdl &7

Options:

1. = 940 Ter.ATfaer
2. = 1220 Tr.AT./EeT
3. v 1080 Ter.#HT./eeT
4. = 1100 Tor.AT./eeT

Question Number : 107 Question Id : 54592745153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train passes a standing pole in 8 seconds and a 200 metre
long platform in 10 seconds. What is the length and speed of
the train?

Options:

1. = 800 metre, 80 m/s

2. = 1000 metre, 100 m/s
3. v 800 metre, 100 m/s
4. = 1000 metre, 80 m/s

Question Number : 107 Question Id : 54592745153 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Jo9Tal Ueh 82X Tod &l 8 Hhus H Jar 200 Hel o
TolchiA Rl 10 ThUS & IR Rl g1 IeEmar i oFas d i
AT &7

Options:

1. = 800 #Hlex, 80 #I./4.
2. = 1000 #rex, 100 #r./4.
3. v 800 #lex, 100 #T./4.




4. = 1000 #rex, 80 HI./A.

Question Number : 108 Question Id : 54592745154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A train covers a distance of 15 km in 10 minutes. If its speed is
increased by 5 m/s, then how much time will it take to cover
the same distance?

Options:

1. * 9 min 50 sec
2. = 8 min

3. v 8 min 20 sec
4. = 9 min 20 sec

Question Number : 108 Question Id : 54592745154 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U JeEMEr 15 TRAL T g #T 10 e # 97 Har &l I
3HT AT 5 AL, §ET & 15 §, d 98 FA o dF el H

ToRdeT & olefl?

Options:

1. = 9 fAsle 50 T+vs
2. % 8 fAee

3. v 8 TAdc 20 s
4. = 9 TAsc 20 A+Us

Question Number : 109 Question Id : 54592745155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do a piece of work in 15 days, B can complete the same
work in 30 days and C can complete the same work in 20
days. In how many days A, B and C together will complete the
same work?

Options:




1. = 10 days
2. v 20/3 days
3. = 21/5 days
4. = 7 days

Question Number : 109 Question Id : 54592745155 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T &R &1 15 @& # T ohdl &, B 38T 17 &1 30 fear
H QI T Hehal & AT C 6T T &1 20 & # T Fohell &
A, B @ur C fAehT 30 w17 #1 fhaet faar # qur i

Options:

1. = 10 &
2. v 20/3 fea
3. % 21/5 feat
4. % 7 f&at

Question Number : 110 Question Id : 54592745156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 men can build a wall in 80 days working 9 hours a day.
How many men are required to build the same wall in 120
days working 12 hours a day?

Options:

1. = 20
2. % 10
3.+15
4, % 25

Question Number : 110 Question Id : 54592745156 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



SﬂwuﬁﬁHQﬁ%mmngﬁaWﬁBUﬁ?rﬁ
§aT Tohd &1 Uidicel 12 T T hld gu 38T aaN & 120
feet # watret & forv fohcel Todl T 3Taeashar §7?

Options:

1. = 20
2. = 10
3. v 15
4. = 25

Question Number : 111 Question Id : 54592745157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A can do (1/8) of a work in 4 hours. B can do (1/4) of same
work in 5 hours. If they both work together, then how many
hours will they take to complete (13/16) of the same work?

Options:

1. = 12 hours
2. v 10 hours
3. = 9 hours

4. % 15 hours

Question Number : 111 Question Id : 54592745157 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TFH FIT FT (1/8) 9T 4 ¢ H X Tohdl ol B 30T T 1
(1/4) #1@T 5 9¢ # QT T Heholl &1 TiG T& aledl AT FH o,
dr AT F & (13/16) & W o & o0 a8 fhda @ o9

Options:

1. = 12 @
2. v 10 T




3. = 9 ©¢
4. = 15 G

Question Number : 112 Question 1d : 54592745158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS Th Jed T IRTT 44 QAL &, d 38T &1Thed FT &7

Options:

1.« 164 TF2
2> o 154 oA
3y 144 A2

4w 174 T

Question Number : 112 Question Id : 54592745158 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the circumference of a circle is 44 ¢m, then what is its area?
Options:
1 « 164 cm?

P @ 154 cm?

3 x l44cm?

4 = 174 cm?



Question Number : 113 Question 1d : 54592745159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a hemisphere is 2.1 cm. What will be its volume?
Options:
1 = 22936 cm’

9 % 32.408 cm?

3 x 38.808 cm’?

A v 19.404 cm?

Question Number : 113 Question Id : 54592745159 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh 37<T9Mel T Fear 2.1 T.AL. &1 SHERT J=dT F4T B9

Options:

1 % 22936THS

9 % 32408 7S

3y 38.808 A

4 19.404 A3

Question Number : 114 Question Id : 54592745160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A solid sphere of radius 10 cm is molded into some small spherical balls of equal radius.
If the total surface area of the small spherical ball is 1007 cm?, then how many small spherical
balls are there?

Options:

1. = 6
2.v 8
3. =10
4 %12

Question Number : 114 Question Id : 54592745160 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

mﬁ;ﬁ.ﬁm#wm?ﬁﬁgﬁ;aﬁrmﬁmmaﬁmﬁﬂﬁﬁmmm
Ifg B MR g &1 Fo TET &% 100 AH2 g, aF el oIl TaeR 71 87

Options:

1. = 6
2. v 8
3. = 10
4. = 12

Question Number : 115 Question Id : 54592745161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows marks obtained by 3 students in
3 examinations.

Examination
Students 1] B2 | B3
S1 68 | 65 | 76
S2 74 | 71 | 63
S3 81 | 50 | 54

What are the average marks obtained by S2 per examination?

Options:

1. = 71.33
2. v 69.33



3. * 66.66
4. % 70.66

Question Number : 115 Question Id : 54592745161 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sl &I a1 dtfelepr 3 TaeATTear ganT 3 IRE3 H WIed 37l
T ZRATAT &

Freameff o fraT
El | E2 | E3

S1 68 | 65 | T6
S2 74 | 71 63
S3 8l | 59 | 54

S2 ZanT ured uid IRETT a3 2T 87

Options:

1. = 71.33

2. v 69.33

3. = 66,66

4. = 70.66

Question Number : 116 Question Id : 54592745162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The table given below shows the number of pillow covers
manufactured by a factory on different days of a week.

Days Number -;.::f pillow
CoVers
D1 50
D2 65
D3 68
D4 73
D5 80

What is the percentage increase in number of pillow cover
manufactured on day D5 from day D1?

Options:



1. = 50 percent
2. v 60 percent
3. = 70 percent
4. = 75 percent

Question Number : 116 Question Id : 54592745162 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A &T IRIT dTfelehl Teh TG & [ATdesl Teal I T herer
a1 TafAd MOear shay Fr d&ar & g2idr g

fea | FMear X & FEm
D1 50
D2 65
D3 68
D4 73
D5 80

feaT D5 A Tafda Meal Fag 1 g&a1 & e D1 & hdar
ufaerT gie g$ &7

Options:

1. = 50 wfaerd
2. v 60 gfcrerd
3. = 70 faera
4, = 75 gfderd

Question Number : 117 Question 1d : 54592745163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The table given below shows the number of phones produced
by a factory in different years.

Years Number of phones
Y1 322
Y2 400
Y3 418
Y4 520
Y5 564

The number of phones produced in year Y3 is how much
percentage less than the phones produced in year Y5?

Options:

1. = 24 percent
2. % 24.88 percent
3. % 25 percent
4. v 25.88 percent

Question Number : 117 Question Id : 54592745163 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s &1 I arfererr faffies awl & vk Sl g@rT 3cufed
il hT HEAT FI F2MdT &l

CL) Wi T HET
Y1 322
Y2 400
Y3 418
Y4 520
Y5 564

gy Y3 H 3cuilcd Wie T T&AT a¥ Y5 H 3culicd Wid &
ERGIRIGHGEE TN -X

Options:

1. % 24 viderd
2. = 24.88 gfaera



3. = 25 gfgera
4. v 25.88 ufderd

Question Number : 118 Question 1d : 54592745164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the number of rings sold by
a person on different days of a week.

2000 ~ 1800

1500
1500 A 1300 ]

1000 -
600
500 A H
0 T T T T 1

What are the total number of rings sold by the person on all
the 5 days together?

Options:

1. = 6000
2. v 6200
3. = 6400
4. = 6600

Num ber of rings

Question Number : 118 Question 1d : 54592745164 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Sl fear IR gus T v gediE & Afeied f&er # T
feFd ganT ST a1 3E[fSAT T TEAT HI geAfdr &

2000 A 1800

1500
1500 A1 1300 ]

% 1000 -
600
E‘ 500 A H H
I:] T I T T 1

TefT 5 Tl A A <afFd g@ary ot 915 39[fedr $r Fer

EIT FAT &7

Options:

1. = 6000
2. v 6200
3. = 6400
4. = 6600

Question Number : 119 Question Id : 54592745165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The bar graph given below shows the number of employees
working in a company in four consecutive years.

2000 A 1800

1500 1 1200

H 800
Y3 Y4

Number of employees working in year Y4 are what
percentage of number of employees working in year Y1?

Options:

1. v 80 percent

1000

1000
0 .

Y1 Y

Year

MNum ber of employees

2. % 90 percent
3. = 95 percent
4. = 100 percent

Question Number : 119 Question Id : 54592745165 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fear 79T 2vg T I AR g¥ & UFh FUaT H FT R
B FAIRIT FT g&ar i cerfar &

2000 - 1800
'E 1500 - 1200
1000
1000 - 800
0 T T T ]
Y1 Y2 Y3 Y4
£y |

aY Y4 A FT H¢ @ FAARAT hl TEIT d¥ Y1 H T FL
g FHAATNET hT TEAT I Tohdair ufaera &2



Options:

1. v 80 gfaera
2. = 90 yfaera
3. = 95 yfdera
4. = 100 gfcrera

Question Number : 120 Question Id : 54592745166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The bar graph given below shows the number of children
took birth in a hospital in 4 years.

500 -
Z 400
3400 - —
= 300
= 300 1 o 270
c 200 -
E 100 1
- 0
Y1 Y2 Y3 Y4

Year

The number of children that took birth in year Y4 are what
percentage of the number of children took birth in year Y17

Options:

1. v 90 percent

2. = 100 percent
3. = 110 percent
4. % 120 percent

Question Number : 120 Question Id : 54592745166 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A 23T araT gug R 4 aul # Uk 3EUdTeT H Sled ool aTel
gTal hT GEAT T cITar &l

500 4
400
400 1 T
300
E 300 4 = 270
® 200 1 -
E 100 1 H
ﬂ L] T T
Y1 Y2 3 Y4
v

aY Y4 HA SeH ola Tl Sl hl T&IAT a¥ Y1 H FeH ol arel
FTAl hl TEAT T ThdelT UTaerd &7

Options:

1. v 90 wfaerd
2. % 100 ufqera
3. » 110 ufqera
4. = 120 gfaera
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Question Number : 121 Question Id : 54592745167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

have you asked.

Options:

1. v Whom
2. » Who

3. = Whose
4. » Which

Question Number : 121 Question Id : 54592745167 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

have you asked.

Options:

1. v Whom
2. « Who
3. = Whose



4. = Which

Question Number : 122 Question Id : 54592745168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

After the sun , the weather became warm.

Options:

1. » risen

2. v had risen
3. = had rose
4, » have risen

Question Number : 122 Question Id : 54592745168 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

After the sun , the weather became warm.

Options:

1. = risen
2. v had risen
3. ® had rose

4. = have risen

Question Number : 123 Question Id : 54592745169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Are you travelling to London business or holiday.

Options:

1. v for
2. % 10
3. % on
4. = In

Question Number : 123 Question Id : 54592745169 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Are you travelling to London business or

holiday.

Options:

1. ¢ for
2. % to
3. % 0on

4. = In

Question Number : 124 Question Id : 54592745170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

The applicants were than expected.

Options:



1. = less
2. » lesser
3. = few
4, v fewer

Question Number : 124 Question Id : 54592745170 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

The applicants were than expected.

Options:

1. = |ess
2. % |lesser
3. = few

4. v fewer

Question Number : 125 Question 1d : 54592745171 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

He is leaving Ahemadabad tonight.

Options:

1. = towards
2. ® aCross
3. % 10

4. v for

Question Number : 125 Question 1d : 54592745171 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

He 1s leaving Ahemadabad tonight.

Options:

1. = towards
2. % across
3. = to
4. v for

Question Number : 126 Question 1d : 54592745172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Her insult made me angry.

Options:

1. = apprehensive
2. = discerning

3. v gratuitous

4. = exquisite

Question Number : 126 Question Id : 54592745172 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Her insult made me angry.



Options:

1. = apprehensive
2. = discerning
3. v gratuitous
4, = exquisite

Question Number : 127 Question Id : 54592745173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there is no error, choose ‘No error’.

The boy (1)/ standing in the (2)/ corner is fat (3)/. No error (4)

Options:

1. %1
2. % 2
3.3
4. 4

Question Number : 127 Question Id : 54592745173 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It.

If there 1s no error, choose ‘No error’.

The boy (1)/ standing in the (2)/ corner is fat (3)/. No error
(4)

Options:

1. % 1
2. % 2
3. % 3



4. v 4

Question Number : 128 Question Id : 54592745174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

You should (1)/ come to school (2)/ on time (3)/. No error (4)

Options:

1. %1
2. % 2
3.3
4, 4

Question Number : 128 Question Id : 54592745174 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

You should (1)/ come to school (2)f on time (3)/. No error

(4)

Options:

1. % 1
2. % 2
3. % 3
4. v 4

Question Number : 129 Question Id : 54592745175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

She did (1)/ nothing use (2)/ laugh and sing (3)/. No error (4)

Options:

1. =1
2.v 2
3.3
4, %4

Question Number : 129 Question Id : 54592745175 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

She did (1)/ nothing use (2)/ laugh and sing (3)/. No error
(4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 130 Question Id : 54592745176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means :

A strong opposition to something

Options:



1. = To go to the dogs

2. v Over my dead body
3. = Dog tired

4. = To face the music

Question Number : 130 Question Id : 54592745176 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an idiom which means :

A strong opposition to something

Options:

1. * To go to the dogs
2. v Over my dead body
3. » Dog tired

4, = To face the music

Question Number : 131 Question Id : 54592745177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

A person who deliberately sets fire to a building

Options:

1. v Arsonist
2. » Hooligan
3. » Anarchist
4. = Apostate

Question Number : 131 Question 1d : 54592745177 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that can substitute the given sentence.

A person who deliberately sets fire to a building

Options:

1. v Arsonist
2. » Hooligan
3. = Anarchist

4, = Apostate

Question Number : 132 Question Id : 54592745178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

One who studies the evolution of mankind

Options:

1. = Philologist

2. v Anthropologist
3. = Psephologist
4. = Calligrapher

Question Number : 132 Question Id : 54592745178 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

One who studies the evolution of mankind

Options:

1. = Philologist
2. v Anthropologist



3. * Psephologist
4. = Calligrapher

Question Number : 133 Question Id : 54592745179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Government by new or inexperienced hands

Options:

1. = Kakistocracy
2. v Neocracy

3. = Ochlocracy
4. = Theocracy

Question Number : 133 Question 1d : 54592745179 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that can substitute the given sentence.

Government by new or inexperienced hands

Options:

1. = Kakistocracy
2. v Neocracy
3. # Ochlocracy
4. = Theocracy

Question Number : 134 Question Id : 54592745180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence in correct order.

It is important for:

P: many of us find it difficult
(Q: to strike up a friendship
R: us to have friends but

Options:

1. * PRQ
2. v RPQ
3. » QRP
4, » RQP

Question Number : 134 Question Id : 54592745180 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence In correct order.

It I1Is important for:
P: many of us find it difficult
Q: to strike up a friendship

R: us to have friends but

Options:

1. = PRQ
2. v RPQ
3. = QRP
4. » RQP

Question Number : 135 Question Id : 54592745181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. v Stopper
2. = Stoppar
3. = Sttoper
4. = Stoopar

Question Number : 135 Question 1d : 54592745181 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. v Stopper
2. = Stoppar
3. = Sttoper
4. % Stoopar

Question Number : 136 Question Id : 54592745182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

ABET

Options:

1. = hamper
2. % protest
3. = oppose
4. v support

Question Number : 136 Question Id : 54592745182 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that means the same as the given word.

ABET

Options:

1. = hamper
2. % protest
3. = oppose

4, v support

Question Number : 137 Question Id : 54592745183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = mock
2. # taunt
3. = deride
4. v Inspire

Question Number : 137 Question 1d : 54592745183 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = mock
2. # taunt
3. * deride
4. v Inspire

Question Number : 138 Question Id : 54592745184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the word that means the same as the given word.

SCANTY

Options:

1. = lavish

2. v scarce
3. = Imbecile
4. = discord

Question Number : 138 Question Id : 54592745184 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the word that means the same as the given word.

SCANTY

Options:

1. = lavish
2. ¥ scarce
3. % Imbecile

4. = discord

Question Number : 139 Question Id : 54592745185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

He (absented) from the party.

Options:

1. v absented himself
2. * took ahsence
3. » was absented



4. = No Improvement

Question Number : 139 Question Id : 54592745185 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

He (absented) from the party.

Options:

1. v absented himself
2. = took absence
3. ® was absented

4, = No Improvement

Question Number : 140 Question 1d : 54592745186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Does she need (few) money?

Options:

1. v some

2. = a little

3. % asome

4. » No Improvement

Question Number : 140 Question Id : 54592745186 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Does she need (few) money?

Options:



—
o,

v some
2. = a litle
3. ®* a some
4

. * No Improvement

General English?
Group Number : 8
Group Id: 5459272238
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English?2

Section Id : 5459272238

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272684
Question Shuffling Allowed : Yes

Question Number : 141 Question 1d : 54592745187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Would you mind (to leave) me alone?

Options:



1. v leaving

2. = leave

3. = to have leave

4. » No Improvement

Question Number : 141 Question Id : 54592745187 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Would you mind (to leave) me alone?

Options:

1. v leaving
2. % |eave
3. * to have leave

4. = No Improvement

Question Number : 142 Question Id : 54592745188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Rahul has a car.

Options:

1. = buy

2. v bought
3. * buyed
4. % gotten

Question Number : 142 Question Id : 54592745188 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Rahul has a car.

Options:

1. = buy

2. v bought
3. ® buyed
4. = gotten

Question Number : 143 Question Id : 54592745189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

The girl (1)/ wear a red frock (2)/ 1s my sister (3)/. No error (4)

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 143 Question Id : 54592745189 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

The girl (1)f wear a red frock (2)/ is my sister (3)/. No

error (4)

Options:

1. % 1
2. v 2
3. % 3
4. = 4

Question Number : 144 Question Id : 54592745190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

Two peas in a pod

Options:

1. = A bad person

2. = A real loved one

3. = A very Intimate friend

4. v People with similar interests

Question Number : 144 Question Id : 54592745190 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of

the Idiom/Phrase.

Two peas In a pod

Options:

1. = A bad person
2. = A real loved one
3. = A very Intimate friend

4. v People with similar interests

Question Number : 145 Question Id : 54592745191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Staying active:

P: body functioning

(O: means keeping your
R: at a high level

Options:

1. = PRQ
2. v QPR
3. = RPQ)
4. = QRP

Question Number : 145 Question Id : 54592745191 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Rearrange the parts of the sentence In correct order.

Staying active:
P: body functioning
Q: means keeping your

R: at a high level

Options:

1. = PRQ
2. v QPR
3. = RPQ
4. = QRP

Question Number : 146 Question 1d : 54592745192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. = Fireing
2. v Firing

3. » Fhining
4, = Firrreing

Question Number : 146 Question Id : 54592745192 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word I1s correctly spelt. Choose the correctly spelt word.

Options:

1. = Fireing



2. v Firing
3. = Fhining
4. = Firreing

Question Number : 147 Question 1d : 54592745193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is Not a synonym-antonym pair?

Options:

1. = abolish — create

2. ® sober — unreserved
3. v conceptual — synopsis
4. » actual — abstract

Question Number : 147 Question 1d : 54592745193 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following I1s Not a synonym-antonym pair?

Options:

1. = abolish - create

2. * sober - unreserved
3. v conceptual - synopsis
4. = actual - abstract

Question Number : 148 Question Id : 54592745194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Don’t worry there is (less) time for the bus to leave.

Options:

1. * much more
2. many



3. v enough
4. » No Improvement

Question Number : 148 Question Id : 54592745194 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

Don’t worry there i1s (less) time for the bus to leave.

Options:

1. = much more
2. % many
3. v enough

4. = No Improvement

Question Number : 149 Question Id : 54592745195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sentence has been given with a blank to be filled with an
appropriate word. Choose the correct alternative.

Sheela complained Shruti’s behavior.

Options:

1. = for

2. » With

3. = because
4. v about

Question Number : 149 Question Id : 54592745195 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A sentence has been given with a blank to be filled with an

appropriate word. Choose the correct alternative.

Sheela complained Shruti’'s behavior.

Options:

1. = for
2. % with
3. ® because

4. v about

Question Number : 150 Question Id : 54592745196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error in it. If
there 1s no error, choose ‘No error’.

I met {(1)/ an old women (2)/ in the market (3)/ No error (4)

Options:

1. %1
2.v 2
3.3
4, %4

Question Number : 150 Question Id : 54592745196 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the part of the given sentence that has an error In It

If there 1s no error, choose ‘No error’.

| met (1)/ an old women (2)/ in the market (3)/ No error (4)

Options:



1. % 1
2. v 2
3. % 3
4. % 4

Question Number : 151 Question Id : 54592745197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of the
Idiom/Phrase.

To walk an extra mile

Options:

1. = Qut of favour

2. v To help out someone more than what is expected
3. » An aim which cannot be reached

4. = One who ruins other’s prospects

Question Number : 151 Question Id : 54592745197 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of the given four alternatives,
select the alternative which best expresses the meaning of
the |ldiom/Phrase.

To walk an extra mile

Options:

1. = Qut of favour

2. v To help out someone more than what is expected



3. = An aim which cannot be reached

4. = One who ruins other’s prospects

Question Number : 152 Question Id : 54592745198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Some foods:

P: you feeling lethargic
(). while others can leave
R: make you feel great

Options:

1. v RQP
2. = PRQ
3. x QRP
4. = PQR

Question Number : 152 Question 1d : 54592745198 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rearrange the parts of the sentence in correct order.

Some foods:
P: you feeling lethargic
Q: while others can leave

R: make you feel great

Options:

1. v RQP
2. = PRQ
3. = QRP



4. = PQR

Question Number : 153 Question Id : 54592745199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one
word is correctly spelt. Choose the correctly spelt word.

Options:

1. » Argumant
2. v Argument
3. = Arguemant
4. = Argoument

Question Number : 153 Question 1d : 54592745199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which

one word Is correctly spelt. Choose the correctly spelt word.

Options:

1. = Argumant
2. v Argument
3. ® Arguemant

4. = Argoument

Question Number : 154 Question Id : 54592745200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = ablution

2. = purification

3. v contamination
4. = sanctification



Question Number : 154 Question Id : 54592745200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose an odd one out:

Options:

1. = ablution
2. % purification
3. v contamination

4. = sanctification

Question Number : 155 Question Id : 54592745201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(Would) you like some water?

Options:

1. = Shall

2. % Can

3. = Do

4. v No Improvement

Question Number : 155 Question Id : 54592745201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Improve the bracketed part of the sentence.

(Would) you like some water?

Options:

1. = Shall
2. = Can
3. = Do



4. v No Improvement

Sub-Section Number : 2
Sub-Section 1d: 5459272685
Question Shuffling Allowed : Yes

Question Id : 54592745202 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

(Question Label : Comprehension



Read the following information carefully and answer the
given questions.

Samuel Langhorne Clemens known by his pen name Mark
Twain, was an American writer, humaourist, entrepreneur,
publisher, and lecturer. He was lauded as the "greatest
humourist this country has produced”, and William Faulkner
called him "the father of American literature”. His novels
include The Adventures of Tom Sawyer (1876) and its sequel,
The Adventures of Huckleberry Finn (1885), the latter often
called "The Great American Novel”.

Twain was raised in Hannibal, Missouri, which later provided
the setting for Tom Sawyer and Huckleberry Finn. He served
an apprenticeship with a printer and then worked as a
typesetter, contributing articles to the newspaper of his clder
brother Orion Clemens. He later became a riverboat pilot on
the Mississippi River before heading west to join Orion in
Nevada. He referred humorously to his lack of success at
mining, turning to journalism for the Virginia City Territorial
Enterprise. His humorous story, "The Celebrated Jumping
Frog of Calaveras County”, was published in 1865, based on a
story that he heard at Angels Hotel in Angels Camp,
California, where he had spent some time as a miner. The
short story brought international attention and was even
translated into French. His wit and satire, in prose and in
speech, earned praise from critics and peers, and he was a
friend to presidents, artists, industrialists, and European
royalty.

Twain earned a great deal of money from his writings and
lectures, but he invested in ventures that lost most of it—such
as the Paige Compositor, a mechanical typesetter that failed
because of its complexity and imprecision. He filed for
bankruptcy in the wake of these financial setbacks, but he
eventually overcame his financial troubles with the help of
Henry Huttleston Rogers. He eventually paid all his creditors
in full, even though his bankruptcy relieved him of having to
do so.



Sub questions

Question Number : 156 Question Id : 54592745203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What did William Faulkner call Mark Twain?

Options:

1. = The greatest humourist the country had produced
2. v The father of American literature

3. = The Great American Novelist

4. = A friend to artists

Question Number : 157 Question Id : 54592745204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which novel has the name, The Great American Novel
been kept?

Options:

1. = The Adventures of Tom Sawyer

2. = The Celebrated Jumping Frog of Calaveras County
3. v The Adventures of Huckleberry Finn

4. = Life on the Mississippi

Question Number : 158 Question Id : 54592745205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following is not true about Mark Twain.

Options:

1. v He was an American writer, humourist, publisher, and
an agent

2. » He earned a great deal of money from his writings
3. » Twain was raised in Hannibal
4. = He later became a riverboat pilot

Question Number : 159 Question Id : 54592745206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose a word from the passage that means the same as
“attention”.

Options:

1. = Neglect

2. » Indifference
3. v Scrutiny

4. = Laziness

Question Number : 160 Question 1d : 54592745207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘a person who extracts ore, coal, or other mineral’ can be
substituted by which one word?

Options:

1. v Miner
2. = Vicar
3. = Artist
4. » Industrialist

Question Id : 54592745202 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following information carefully and answer the

given questions.

Samuel Langhorne Clemens known by his pen name Mark
Twain, was an American writer, humourist, entrepreneur,
publisher, and lecturer. He was lauded as the "greatest
humourist this country has produced", and William Faulkner
called him "the father of American literature". His novels
include The Adventures of Tom Sawyer (187/6) and its
sequel, The Adventures of Huckleberry Finn (1885), the
latter often called "The Great American Novel".

Twain was raised in Hannibal, Missouri, which later
provided the setting for Tom Sawyer and Huckleberry Finn.
He served an apprenticeship with a printer and then worked
as a typesetter, contributing articles to the newspaper of his
older brother Orion Clemens. He later became a riverboat
pilot on the Mississippi River before heading west to join
Orion in Nevada. He referred humorously to his lack of
success at mining, turning to journalism for the Virginia City
Territorial Enterprise. His humorous story, "The Celebrated
Jumping Frog of Calaveras County", was published in 1865,
based on a story that he heard at Angels Hotel in Angels
Camp, California, where he had spent some time as a
miner. The short story brought international attention and
was even translated into French. His wit and satire, In
prose and in speech, earned praise from critics and peers,
and he was a friend to presidents, artists, industrialists, and
European royalty.

Twain earned a great deal of money from his writings and
lectures, but he invested in ventures that lost most of it—
such as the Paige Compositor, a mechanical typesetter that
failled because of its complexity and imprecision. He filed for
bankruptcy in the wake of these financial setbacks, but he
eventually overcame his financial troubles with the help of
Henry Huttleston Rogers. He eventually paid all his creditors
in full, even though his bankruptcy relieved him of having to

do so.



Sub questions

Question Number : 156 Question Id : 54592745203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What did Willam Faulkner call Mark Twain?

Options:

1. = The greatest humourist the country had produced
2. v The father of American literature
3. ®# The Great American Novelist

4. = A friend to artists

Question Number : 157 Question Id : 54592745204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

For which novel has the name, The Great American Novel

been kept?

Options:

1. = The Adventures of Tom Sawyer

2. » The Celebrated Jumping Frog of Calaveras County
3. v The Adventures of Huckleberry Finn

4. = Life on the Mississippl

Question Number : 158 Question Id : 54592745205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Which of the following i1s not true about Mark Twaln.

Options:

1. v He was an American writer, humourist, publisher, and

an agent
2. » He earned a great deal of money from his writings

3. * Twain was raised in Hannibal



4. = He later became a riverboat pilot

Question Number : 159 Question Id : 54592745206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose a word from the passage that means the same as

“attention”.

Options:

1. = Neglect
2. % |ndifference
3. v Scrutiny

4. = |Laziness

Question Number : 160 Question Id : 54592745207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘a person who extracts ore, coal, or other mineral’ can be

substituted by which one word?

Options:

1. v Miner
2. % Vicar
3. % Artist

4. = |ndustrialist

General Hindi1l

Group Number : 9

Group Id: 5459272239
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

IsthisGroup for Examiner?: No



Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi1l

Section Id : 5459272239

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459272686
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592745208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T S[ec, &l GTer TaTde, AATd hisIy|

TYH

Options:

1. % o + gi#f
2. % ol + T

3. v aY + FH
4. % qY + A

Question Number : 161 Question Id : 54592745208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw v orsg &7 IS B AT Hiiaw]

TYTH

Gy,
Options:

1. = @ + gf#A
2.« gg + A



3. v @Y + FfA
4. = TY + A

Question Number : 162 Question 1d : 54592745209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIed] il ITer FTd iyl
 + 3

Options:

Question Number : 162 Question Id : 54592745209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv ersgr fr iy AT Hriew]

o + 3

Options:
® 31'\3—]1‘%
2 . mfx
3. v #4GITg
4. = sTaT

o,

Question Number : 163 Question Id : 54592745210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TeT T srec, 7 T YopR i ITe g JATd ditaigl
TTATT

Options:



1. = T
2. v SO
3. « fogt
4, = JqUT

Question Number : 163 Question Id : 54592745210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 90 oreg A TohT UhN T AT § ATT HIAT

TIYHTOT

Options:

1.%3;|'UT
2. v ol
3. » foget
4, = Ul

Question Number : 164 Question 1d : 54592745211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T 3T T DI & e, g7

Options:

1. = T
2. v Tadet
3. * &G

4, = AT

Question Number : 164 Question 1d : 54592745211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HAR 3 3R HleaT & o6 87

Options:

1. = eral




2. v a2l
3. = &
4. = TR

Question Number : 165 Question Id : 54592745212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Maleld #§ ¥ DI 9T 2Tec, TYaTad G190 BT 3G gl 87

Options:

1. % @I
2. % qqT
3. = g
4. v @S

Question Number : 165 Question Id : 54592745212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e A & i a1 e Teaarss Td«TH T 3&IEI0T oTal
g7

Options:

1, « Pl
2. % 7
3. = TorE
4. v FE

Question Number : 166 Question Id : 54592745213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

e T a1l & TolT 3T e T T By
e oI} &l U o171 aTelT

Options:

1. = 02T
2. % TUeR




3, % U
4. v T

Question Number : 166 Question 1d : 54592745213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tew 7T grerer & fow 3T osg &7 Idd FITSv|

T o9 R TO=T oleTel aTel

Options:

1. = o7
« Togax

x TORT

v AT

Question Number : 167 Question Id : 54592745214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T aTadie & TelT 3T Tec, Tl T Bl
O &7 ST

Options:

1. v 0T
2. % TTOrq=ITar
3. = TOGSTT
4. % T

2.
3.
4.

Question Number : 167 Question Id : 54592745214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few arv grearer & folv 3T =g &1 ¥ Hifav)

IATOIT hT ATAT

Options:



v 0T

« IO AT

« IO AT

ol

% 0T

Question Number : 168 Question 1d : 54592745215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T a1l & TolT 3T Tec T T hir=iy|
ST St UeleT 3291

Options:

1. * ZTgdH

2. % U3TBT

3. v NistiiaT

4, *» NEg

Question Number : 168 Question 1d : 54592745215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w Irw greFaTer & ol 3T ofeg &7 IId ShIov]|

SiTel @Rl Uddl 3Tl

Options:

1. = g5
2.

3. v ToreifasT
4. 3l

Question Number : 169 Question Id : 54592745216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MgTelTEd & & [ e+ & T DIyl




Options:

Question Number : 169 Question Id : 54592745216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT & & o€ aclell FT T HITSI0|

Options:

1.#@%

Question Number : 170 Question 1d : 54592745217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIeg &l TIiIart JTd hiTTgl

g3

Options:

1. v 319T
2. % gTraT

3. = e
4. % 3q

Question Number : 170 Question Id : 54592745217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT U e T TITIGET ATT 10|

CES

Options:



Question Number : 171 Question 1d : 54592745218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T SIec &l TIiIart JTd hiTTgl
I TH

Options:

1. % qTim
2. v 9T

3. % SefdTl
4, = 9g9q

Question Number : 171 Question 1d : 54592745218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faT U eeg T TSI ATT HITT|

KIGIED

Options:

1. » Tk
2. v Hall
3. = Sfeldl
4. = oT&d

Question Number : 172 Question Id : 54592745219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MATCId § & DI IT e, I [T U6, 00 572




Options:

1. * SIS - dd-
2. % T[0T - &0
3. % 3oT-Uch
4, v AT - 91T

Question Number : 172 Question Id : 54592745219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forafafad & & Sl @7 oeg JIA Yoaserd o JIA &7

Options:

1. = 3 - Ade
2. % 90T - A

3. ® 3&T - Uceh

4, v T - dI

Question Number : 173 Question 1d : 54592745220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T ererg # SUGeh S, DT AT hiech [<ch AT el et el ]

3MTUh BT th TTEY 3TUCI gl g3

Options:

1. v TATTT
2. ® gT-r
3. = STqaIT
4. * Tgg

Question Number : 173 Question Id : 54592745220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feU 910 areFT 7 UG Weq T T Flah el FATeT hr it
%Iiﬁl@l

3TIRT FTHT o 3Te[®T 3R] el E37|

Options:

1. v &METd
2. % Flal

3. = oIl
4. = UgHT

Question Number : 174 Question Id : 54592745221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl # ¥ S adT &7 T+ DIyl

Options:

Question Number : 174 Question Id : 54592745221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafeli@d & @ g ader F1 T FST|

Options:

1. = Zcdrddd

2. v cdicd

3. % Eddicd

4, = gdTIdd

Question Number : 175 Question Id : 54592745222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e T S[e, &l Tl ¥ SIec, ATd Ryl

3rfervier

Options:

1. % S

ARG IC
3. = Holar
4. % ITHAT

Question Number : 175 Question Id : 54592745222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2w v orsg T AT oo AT Fiiavw]

KICEGE

Options:

1. % ST

2. v o
3. ® ST
4, = 3dAhdl

Question Number : 176 Question 1d : 54592745223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ 7T ererg # Seid ULEI T g dleh eh T &l I iyl

¥ 3¢ & g9 T Teh o BT TG &

Options:

1. v T
2. % X
3.+ 9
4 % ¥



Question Number : 176 Question 1d : 54592745223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEw a0 aeFy & 3T et F7 I9a Fh Red T Hrogfd
FIew|

#H 38 & &9 U TR W ST TET £

Options:

1. v T
2. » T
3.+ &
4, = H

Question Number : 177 Question 1d : 54592745224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET 7T ey § Seid ULHI T g dLeh eh T il Iid iyl
TUTHAT EL 39 HTHel § IS YIdTshdT Aal 315 2l

Options:

1. = &, 7
2. % 7, @l
3.van g
4. % T, dr

Question Number : 177 Question Id : 54592745224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feT 910 arerg A 3T TWEeT FT el Hhleh e FATT HT et
FIeTT|

AT SELD 5§ AFES # F5 ufafsar «gh
3 &l

Options:

1.« 1o
2. = df, &I
3. v I, &
4. % ®, I

Question Number : 178 Question Id : 54592745225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgieiad § & oI IT AeS, TlooiTT 57

Options:

1. v @MET
2. % g3
3.  dldhd
4, » e&Iq

Question Number : 178 Question Id : 54592745225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATl # & hid dT elsg g'f%‘oiﬂ &7

Options:

1. v QT

2. % 3T
3. % dTehd
4. = Tregd



Question Number : 179 Question Id : 54592745226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MY & ¥ dI 9T e, STl T 572

Options:

1. v TO&T
2. % gque
3. * ST

4. %y

Question Number : 179 Question Id : 54592745226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl H & el AT <eg Flfeldr &7

Options:

1. v odTeT
2. % §<I9al
3. % ANIcT

4. = gy

Question Number : 180 Question Id : 54592745227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET T grec; T Agera FATd By

BIE]

Options:

1. % B
2. % BT
3. v BT
4, % BT

Question Number : 180 Question Id : 54592745227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



2T 1T ¢Ts ohI Sgadel AT e

Options:

1. = B
2. % BMET
3. v BHST
4. = Bl

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :
Section type:
Mandatory or Optional:
Number of Questions;

Number of Questionsto be attempted:

Section Marks:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

General Hindi?2

10
5459272240
0
120
No
No
0
20
No
Yes
0

0

General Hindi2

5459272240
1

Online
Mandatory
16

16

20

1
5459272687
Yes

Question Number : 181 Question Id : 54592745228 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Mgl # ¥ g arad BT ad iyl

Options:

1. * 3 ThdTer UGT 3l
2. % QLT T HRT AT
3. v 9T 3T GIET @7 b 32
4, % HIgT P Bl 32 F AR

Question Number : 181 Question 1d : 54592745228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT @d # & U ATFT T TI T

Options:

1. = 7 Tohde dee &
2. = I AT ART TG4
3. v T 3T AT gé‘h%?
4. = Age Fed F 53 AN

Question Number : 182 Question Id : 54592745229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T aTerd &l €7 AT hi=gl
T eTetl AR &, 39 0T of T3]

Options:

1. = 9o
2. v 9gh
3.« Ty
4, % IUAqTrg

Question Number : 182 Question Id : 54592745229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



faT 90 I T T AT HIev]

ST o8l ATAN &, 38 3Tdrel of S3

Options:

1.« T
2.@3‘49;&?
3. = fasr
4. = 3T

Question Number : 183 Question Id : 54592745230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMyterad & & & 91 arag Wy o 32

Options:

1. = W= ATl 2 31 3T Ui delelT a=iar gl
2. % SITH Gl & YerdT § 3R A |IS UGAT 3l

3. v S @H Y gl 14T, e § G 17

4, « Tt Rg-dl 3 ar e ST gl

Question Number : 183 Question Id : 54592745230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ao @&d # & i &7 gy 3 areg &7

Options:

1. % AT AT & 3 39T 9fad ddell Soldl gl
2.« A F # Faar § i AW A vgar B

3. v S A T & 94T, I # & I

4. = Tacgredt Ag=dr & ar 3faed 3cdror e

Question Number : 184 Question Id : 54592745231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




TeT T a1 & ared dt ugar Hiiagl
TSI O AT UgT gl Tl

Options:

1. * PHdared
? « Hdd<
3. * HHAY

4. = Fcgary

Question Number : 184 Question Id : 54592745231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few v gy & ar=g Fr ugaraT HIfev]

AdT ST @ eI TET oIar T

Options:

1. % Shadled
2. ¢ {4
3. = hAA

4. » Tdcgar<dg

Question Number : 185 Question 1d : 54592745232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e T a1ed & U 19 Byl

TdT Tohe=T 38T 1T L&l 3l

Options:

1. * IRYSATD T&
2. % quidTCgiaen
3. v YIAwgaTtd

4. = YdcTIddn




Question Number : 185 Question 1d : 54592745232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST 910 T &7 Y& AT HITeI0|

ar feraar 37<aT 9T BT &I

Options:

1. = AT T&
2. = UGl

3. v HId-Iargeh

4. = YEITIEATdh

Question Number : 186 Question Id : 54592745233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeT T a1 dt i AT DIl

AE PTH T 31T BT 31 T

Options:

1. » SrEIdT YIh
2. v Migards
3. % SrMTEATd®
4, » YTy

Question Number : 186 Question Id : 54592745233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faw arv arerr & gica ara Fifewl

IE FTH Al 3TST HLAT & S|

Options:

1. = STEI] HI<h

2. v reaardes




3. = fATeTTdes

4. = HohdTdh

Question Number : 187 Question 1d : 54592745234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f&U T AT BT TEY AT DI

q¥8 F&T 9 SleT=T ATl

Options:

1. = 3=
2. v HEOH
3. = 31A
4, = TIH

Question Number : 187 Question Id : 54592745234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2T v gy F IEY AT FIST]

JFe TeT T Slelell AMET|

Options:

1. = 3T
2. v AYIH
3. ® 3cdH
4. = TIH

Question Number : 188 Question Id : 54592745235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

MEeiEd Uy #, 0T M7 I Adeul # ¥, 39 [ddeT & I3+ & Sl [dJ
MY YETer o 37<f Pl Fei9s €T F <eh BT 3l

RSEIEIEE RS



Options:

1. * G o [T gay g1 @l
2. % SMRTYT T g1 Yaid Tgar gl
3. v §gd a &l

4, » TTHT ZIM U DI & AT

Question Number : 188 Question Id : 54592745235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

B@¥eT a7 TSl 9 e

Options:

1. = g@ & foa da7 «igl &
2. = O @ & 9T EaT &
3. v Fgd SEEAEGU

4. = 3THT @l G FHIH & ST

Question Number : 189 Question Id : 54592745236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, RU U IR deut § ¥, 39 aey o a7 o 5w
MY YETer o 37ef Pl Fel9s €T F <h T 3l

¥ gUET

Options:

1. v =7 & ATAT GUT
2. % AT AT TRTHT ek et GUTATI
3. ® 3T chd] %qu chH |

4. = YT eTch U 3T &5 ¥ ol T=T]




Question Number : 189 Question 1d : 54592745236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fmatfl@a uea A, GU av a9 Reredl # &, 39 [TFeq =
T R S U 0 AETAY F AT F FIATS FT H oA
LT &

BT TguTar

Options:

1. v =g H ATUT YT

2. « ST AT ORTEAT SAfeFd T ST
3. * HIGRIRAT 8 Tgd FH|

4. » Y =yTFd o 3T F AT T

Question Number : 190 Question Id : 54592745237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYTeEd U ¥, [T TU I [ddhell d 8, 39 [dded &l Id9 & Sl 17
MY JgTa & 31 Dl 98 €T F <ch BT gl

S B TR 3 eritelt apr der

Options:

1. v 3N hieh DI YeddTe a¥g [Hel ST
2. % GIloTdll <4ich tl §B YT gl [HerdTl
3. % & d¥h & ATHI

4. % TUT & TAEG AT I

Question Number : 190 Question Id : 54592745237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

Bl & AT H I HT del

Options:

1. v 319 oY I Hegdle a&] AT S|
2. » oo safdd T F o 7@ fFeram)

3. % & % & olre|

4. = AT K A% ATH gl

Question Number : 191 Question Id : 54592745238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgferad vy §, RU U IR deut § ¥, 39 aey o a7 o 5w
MY YETer o 37ef Pl Fel9s €T F <h T 3l

R @Y i AT

Options:

1. = BIET Gt o7 D TGT - TGTHT PgHTl

2. % TEdT ST

3. v 3cAd Y1gY BT B HEAT|

4. * ggd Y@ eI

Question Number : 191 Question Id : 54592745238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT a weaT A, GT 91T IR Fheur & &, 39 dhed F
T R S OU T JETeY & AT FT FIATS FT H kA
LT ¢

AT I i faraten
Options:

1. = BT GT T hl FGT - AGTHL HhgaT|

2. % OREAT YsaT|

3. v AT ATEH T H HlAT|

4. = §gd HE olTaT|
) D,

Question Number : 192 Question Id : 54592745239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEQ T 2rec] @ GHg o Tl TGt GETa dr Ig iyl

T i FHTIAT Tl

Options:

1. v 3&¢t Y AerT

2. % T BT HT ST BT

3. » g o g1y g vl fUwar g
4. * T & Gl Ggam

Question Number : 192 Question Id : 54592745239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feu arv ersel & FHAE + AU WL FEra¥ T =TI FISA0|

Hcg T THTGAT glaT|
Options:

1. v 3cal QiF delal




2. % TY T ALT T T
3. = 3 & WY g o O g
4. = T & Il »{:ij:ldﬁ

Question Number : 193 Question Id : 54592745240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TET Y AT & T gl elleniich T T Dhieh 1Xeh €T i Yt iyl

FUR AT pratagl gletg |

Options:

1. * U U & PIaT

2. » BieT 4§ a1 914

3. v T T TSI STHAT T STHATSE
4. » GIeT UgTE Mebell FrgaT

Question Number : 193 Question Id : 54592745240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fou a7 g & forv @@ aeRerd T I Hlh o T2ATe
Fr gfd Fifowl

EAN AT ST T AT TEr gl & |

Options:

1. = Weh YT G& il
2. % BIET 33;"5 FaT o1
3. v 3@ 91T IS STHAT AT STHATE

4. = FeT 9gTs felshell Iieam

Question Number : 194 Question Id : 54592745241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




T T a1 | Tohg O Rig & U [T ST AT hiigl

Y eIehlel TGl  FT gl 4T

Options:

1. ™"
2.v7?
3. % |
4. % |

Question Number : 194 Question Id : 54592745241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev 30 gy A R [BUA ES T 39AET RIT STem ATd
$IeTT|

JHH Tehlel TGS o AT gl oAT

Options:

-‘I. % I n

2. v 7

Question Number : 195 Question Id : 54592745242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rrafired & & B a7 9 g 7

Options:

1. % ()
2. % |
3.v-
4, %



Question Number : 195 Question Id : 54592745242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT Ed H & hid AT Jdlelsh ed g7

Options:

Sub-Section Number: 2
Sub-Section 1d: 5459272688
Question Shuffling Allowed : Yes

Question Id : 54592745243 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

(Question Label : Comprehension



e ETTer T AT B Trerter & SR WX W fow MU B werter &t
EAYCIh Ug T TP T # = et # & Fg fahe g

AT ST Tl @ﬂT%sim H FLoTdT TgdT gl H thl ITEALT g g 37T Yepryl
TeIT gIepT dTdl heT 81 8 i S gl AT GE4 ddd gt GWheldT i Giigdl
AGAT 3 ST F TEET 81 AT Pl gR g1 # hl (T T § TGAT - qTY
Idl & g 7 731 &, U AT AR T §Iepe drd Xl 3, a8 Do 9 Piod
1Tl W P § GG giar a1 AT 79 d Thryar 9 g 3(U-1 UgTs §
deolie gl GehdT gl 3] 7 ABell hl 3T T LT THT IT Fehl S 3G
THTIAT § 370 B B BT 971 R 3 ST Site dt A=ard =aid 2l
ST T Teer WS & AT ¥ gl STGT A ol ATeh Yol I Agl Siid gt
ST A BT S[Tch §I4T §HTT AGT U URTSTA giTl W T 1Tk, a1 &l &ffeh W
Al g 3T IGHel 1l T T GHel e ATl gl EAT oITTTh HI HT i DIe
T [T SIT GardT 31 T DT ST aTeAT g1 PIUAT gidT gl Uit UdTag f
FTOTLTth  gI Sl Jog i Jch T@T AT el 7 # g 4T WIaHT Gl g,
Y UoAdT g U TH0QT BT g1 Tgl 6 hl o4 FS! R gldl g, T A U]
g IR 319y YT e gl SA7dT 3l

Sub questions

Question Number : 196 Question Id : 54592745244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

dverel Teh a¥th § o1 & AT glaT 872

Options:

1. * A P g
2. v AT D Sa

3. % {9 &I gh
4, = T

Question Number : 197 Question Id : 54592745245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 < ADeil it AT T LT fhagd qrem?

Options:

1. =79 %




2.5 dTq®
3. % JATcHTISTT &

4, v T@IAr 9

Question Number : 198 Question Id : 54592745246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A Th PIAAT gidT 52

Options:

1. » I Pl SId= dTel]

2. v 0T Bl Std= dTell
3. % UHT AT dTel]
4, = GEW P dTel]

Question Number : 199 Question Id : 54592745247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. % Wof HreAT

2. % g BT

3. v U6 & H+

4, % AT & eAgK

Question Number : 200 Question Id : 54592745248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3Tk ETTSr T Sfies o T 37

Options:

1. = G DI ST
2. % A Pl g

3. % Wegdr
4, v U P gR R A & Sitd Sl

Question Id : 54592745243 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)




Question Label : Comprehension

Teh IEATeT f&AT AT §| IS & IR W T fav 7w g
AT FT YA I¢ TAT Tedeh U2l # IR fdhedt & &
Tl fashed ol

Aol &8T I=l BT § 3ol H STelal BT &1 Hel =T 3{fEeRdr
g & 3T v Rca & F1T FLaT & A hl Siid &l Al
Y I &7 Theldr hT HIfedT TGAT & TaY & "alar & Hel
T B | AT I 3T T H IFeAT §5-93 AT AT & TA A
Aol &, T S R R™ed g T &l &, I8 FiSd T hicd
FRIT Fr oY S H TaH g &1 et #a Fr v @ &
HYAT Ygls H Toellal 81 Tehall §l 3Toldl o HSell 1 3 T
ToTelTalT ol Ty T SIS 39 Uhlardl & 319al hRT sl TohaT &7
| B 3 ST Sitaet i sifaard Pufa &1 2l 1 Joe Aqsy
F AT T & & AT FT oafFg gwer 2l gt g @ef o6t
A hT eTTdd gl SO & U T 9| AT hr eIfdd, dol
FY eI WETeT Flal & 3 3THg FF I O g9g HT 37T &
€Tl oETRT AT HeT T g H fhAT ST HehelT E1 Hel I
Sildel aTell &I ShTAEdd gidr g1 9cH OarHg ST sTorliad o
8 3eTehl Hcg T Uob T&T AT ST A # H3E SIET #77Talr 15
&, WH Todl & 9 [T gidr &1 I8T Ao I 998 §87 8N
adr &, Tgi;quHd UoFehT &l T 39T AT 999 & 1T &1

Sub questions

Question Number : 196 Question 1d : 54592745244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tl Toh W Hel olellal T AT BT &7

Options:

1. = He hl R
2. v Hel T SAid
3. » Hel =l erfod
4. » FTomEITd

Question Number : 197 Question 1d : 54592745245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁxﬁ;dﬁd-laﬁ-oﬁ T 3T 9T femar Sraa arar?

Options:

1. » AT &

2. = O &

3. = 3cAAeard &
4. v THEIAT &

Question Number : 198 Question Id : 54592745246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fld TFd FTHIE BT &7

Options:

1. % del Rl Siidel dTel

2. v Hd &I STdal arell
3. = YT FHATA aTel

4. = HOY hia dTen

Question Number : 199 Question Id : 54592745247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 3T ST @7 dewr fraa &7

Options:



« el HATIT

x HE Bl

Helg & Hd

ol
<

* AT & TAGR

Question Number : 200 Question Id : 54592745248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SYYF TSI T AT 4T &7

Options:

1. » Hal T AId

. % Ha Wl R

-

2
3. ® HelSIAT
4. v AT & BR BN Hel & Sild oild



